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3. T T, (Wiferem) e, 2011
Ht-de
Tgei=r 99=-us <A1 BT

(STEATIAR TaetuuT Aiga o)

JTTEATET &THAT (SHIBHEI)

Directions for the following 8 (eight) items :

frrferfiaa 8 (21e) wyaion & ferg fdor -

Read each of the following two passages and
anwer the items that follow. Your answer to these
items should be based on the passage only.

AGIH ¥ W UAw H Ulgy R
Ik ST W T G & I AW 3T g | 7
o 3% ST kool TGV W & Meia g =fen

Passage-1

For achieving inclusive growth there is a critical
need to rethink the role of the State. The early debate
among economists about the size of the Government can
be misleading. The need of the hour is to have an
enabling Government. India is too large and complex a
nation for the State to be able to deliver all that is
needed.Asking the Government to produce all the
essential goods, create all the necessary jobs, and keep a
crup on the prices of all goods is to lead to a lage
cumbersome bureaucracy and widespread corruption.

The aim must be to stay with the objective of
inclusive growth that was laid down by the founding
fathers of the nation and also to take a more modern view
of what the State can realistically deliver.

This is what leads to the idea of an enabling State,
that is a Government that does not try directly deliver to
the citizens everything that they need. Instead, it (1)
creates an enabling ethos for the market so that
individual enterprise can flourish and citizens can, for the
most part, provide for the needs of one another, and (2)
steps in to help those who do not manage to do well for
themselves, for there will always be individuals, no
matter what the system, who need support and help.
Hence we need a Government that, when it comes to the
market, sets effective, incentive-compatible rules and
remains on the sidelines with minimal interference, and
at the same time, plays and important role in directly
helping the poor by ensuring that they get basic
education and health services and receive adequate
nutrition and food.

—1
TRl wafE A T ¥ R o A e
THfEER 1 TR STEvIHT 8| TWHR F STHR & O |
oot & 9 gE AR TeW yme & gl ¢ e
ﬁww%%q%wﬁwﬁw@

. A

24 3

ap 3, 4, 8,

Ty, faedat = fown ot @ i gferd g
i 9T 3R SRR # I v
TS TS TEEAT A H wEeyul gfter fem
1. According to the passage-
797 o ITIEW
1. The objective of inclusive growth was laid down
by the founding fathers of the nation
TRt Hafs &1 32¥F TP & Heme R W@
RN

2. Need of the hour is to have a enabling
government.

AT & SAETAHAT & o T AR TR & |

3. The government should engage in maximum
interference in market processes.

TWHR & AR 1 glparet § ifepad gwe

T Tifeul
4. There is a need to change the size of the

government .

TR 8 & GhR F AHR & e o)
Which of the statements given above are correct?
e ¥ ¥ RA-HE ¥ HYT T E?

(a) 1and 2 only/m 1 32
(b) 2 and 3 only/&aa 2 3R 3
(c) 1 and 4 only /e 1 3R 4
(d)1,2,3and 4/1,2,3 3 4

3Tl-(a)

a2
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ST — TG % STHR TF I8 g1 AMeT o g
Temus! 3 Ry gaEsh g9fs &1 sevd @i o,
T T T THh STER & wEeRtl €afE
% TSl g WA T ATl ST HUT Uk
aEy § afa § 5 Hg & sevEsd & W
e TN &1 3 HoF 2 Ff W 7| He i T
HI 4 TGV F AR G T § Ffp o
o g5 T TH TR H ST 8 S ae
Tt i, g W wifim w3 =Aew
FEIRIT A g2 T W o ©, 37 TWHR I TN
I fchansti B fay swey AE B afew @ o
T 37U 3 MY IV STOAM S STEwashal
2 VT TER % SR § Radd F F

2. According to the passage, the strategy of inclusive

rowth can be effected by focusing on
9T & ITEK, i ﬁgﬁ e T& W
Hehfsd oY & HUTEYT Ugfg st wrE-ifa wdwa
T ufRure &Y ST Wehet 87
(a) Meeting all the needs of every citizen in the

country. oI AR @ goft sTavaeaet
& g &

(b) Increasing  the
manufacturing sector

LL [ &l T2

(c) Controlling the sistribution of manufactured
goods/fafiHa awqatt & famur &1 ffE &

(d) Delivery of the basic services to the deprived
sections of sthe society .
TS o dfad a7 1 g HaT $aH

IT-(d)

regulations  over  the

3.  What constitutes an enabling Goyernment ?
TR o Hoedh o0 7

1. A large bureaucracy foeTel SIehLMaT |

2 Implementation of welfare programmes through
representatives

sfafaferdt & Arem  FHeArr FRHE H AT FE

3. Creating an ethos that shelps individual

enterprise F ged HN RrEH
s a9 H 7eg el

4. Providing resources to those who are
underprivileged

3% Y YR BT S AT T £ |

5. Offering direct help to the poor regarding basic
services ' 31 & T § e
WeE o

Select the correct answer from the codes given
below :

fror feu T e =t wETEar | " I g ¢

(a) 1,2 and 3 only /e 1,2 3R 3

(b) 4 and 5 only /Fa 4 3R 5

(c) 3,4 and 5 only /39 3,4 3R 5

(d)1,2,3,4and 5/1,2,3,4 35

3T-(¢)
HEAT— gl TEHR & G6esh § — U qredad
TAFER F Yo e AWH Iq9 %A B T IR
AR ferRTer 9T & T U TR S Savaswast &
foTT e X Goh | THR TH AN Hee & forw e
IUCTH HIC 8, S STCAGEE G & | W & qre foefr
& T iR w@rer it G gy qr wafe g
R AR F Iyl AR HET 37 F99 3, 4, 5
I &, Fa e ok SRd 9T F WET B A gu
fersTer SrenCerdr e SfafREt & arad | S SR S
AN F SR A0S GFER H SR A S| 37 B Th

T & ESAH WER F GeE TE T
4. Why is the state unable to deliver’’all that is
needed’’?

T W aft sTavaeRaTedt @ gfa’ WY wed
H aramet §7
1. It does not have sufficient bureaucracy.

3G g vt Ancerd T 2
2. It does not promote inclusive growth.

I8 TEEft ggfyg @ &
Select the correct answer from the codes given
below

e fau 7T Fe =t JErEdT § |l I g
(1) lonly/ aa 1
(b) 2 only/ad 2
(c)Both 1 and 2/ 1 3 2 &t
(d) Neither 1 nor2 /7 @ 1 3R T & 2
ST-(d)
- Toq ooff eavesant #i uff # uH 4w
9T TP & e o Sfed wWed # @ gu S HH
T R o wEw e & e qw T g’
Tt dgfe @ Mfed 7 A S & T8 SR0T A6
g, N T o sravasaet @ off T& B g 2
5. What is the essential massage being conveyed by
the author of the passage?
T GV % oI@eh GRT e TR HI9T T &7
(a) The objectives of inclusive growth laid down by
the founding fathers of the nation should be
remambered
Ty & " & 5N ST TEEh H9fE &
SR F AR TG AW
(b) The government needs to make available more
schools and health services
YR % U 7 Mavas @ 6 9 e whot
3R @ et 3ue HU|
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(c) The government needs to establish markets and
industries to meet the needs of the poor strata sof
the society
R % forw 7 aevas @ 6 ag wAs % e
W & AEvIEaet # gt & o aeR 3R
JANT T

(d) There is a need to rethink the role of the state in
achieving inclusive growth
Tl Hgfg @t Wi & e o5 i 9fier ©
QAR T S STEvaehT 21

IT-(d)

- 39 oEe § OEd 3N o 9 9
“garaeh dafs @ Wi % forw vsw @ qfe | gAfdER
T F1 AFYAE 8, S e s el Ut § & gy 2

Passage-2

The concept of “’creative society‘’ refers to a phase
of development of a society in which a large number of
potential contradictions become articulate and active.
This is most evident when oppressed social groups get
politically mobilize and demand their rights. The upsurge
of the peasants and tribals, the movements for regional
autonomy and self-determination, the environmental
movements, and the women’s movements in the
developing countries are signs of emergence of creative
society in contemporary times. The forms of social
movements and their intensity may vary from country to
country and place to place within a country. But the very
presence of movements for social transformation in
various spheres of a society indicates the emergence of a

creative society in a country.

)
‘gl AT @ STEuRen R S & fawe &
A N A ¥ 9

3R T & 330 §1 A 39 T Halres
| g 3cfifed TS 998 TSHifds &
S § i et Rl S T A g
foepraeiier it & fepaml 3R SHeNfaal 1 3 ST I,
?éaﬁzr WeEd SR i F e etideH, gateRe
A 3R A AR Gl 99T H goeie T
% orfawia % 0T 1§ I el & &9 SR S
e STCTT-3TeRT TE # IR 5w I % STem-sver Rt
¥ e & g 81 g T % R et § e
OO dH & T e eEem & suferfq A, Iw |

3 WO A
ﬁﬁmﬂmg@'
T g ¢ o
wﬁﬁa

Yo W % anfadia @ S H 8
6. What does the author imply by ¢creatie
society’’?

“ gereier HTS’ ® g et o fefgaret 37

1. A society where diverse art forms and literary
writings seek incentive.
TF T Tel ey dae o e awe
I U T S Hid & |

2. A society where social inequalities are accepted
as the norm

TH AN @l e SEHFAE g e
i 2

3. A society where a large number of contradictions
are recognized.

Toh TAS SR faene g | fafaqy 99 e
Einld

4. A society where the exploited and the oppressed
groups grow conscious of their human rights and
upliftment
TS AW SE e e Sifed gl # et
TSR] Td S 3l <1 i 2t 81

Select the correct answer using the codes given
below :

fror feU T e st wETEar € " I G ¢

(a) 1,2 and 3/1,2 3R 3

(b) 4 only / Fact 4

(c) 3and 4/3 3R 4

(d)2and 4 /2 3 4

S-(c)
T TG & AR GIRia FI &l STaumon
foreht T % faebrg & 3@ wwor ay fAfdy e @, Ford
a¢1 G # e feRienyE qaR 3R wfHd & sad 2
T8 I 9HY Taie goE gl 2, 9wy saffed
Qs GUg Toriifash TR T Tufed & o § S 37
ARHRT A FA &1 o G gU ¥ d@s

& fafeard o 3 wd 4 9 ww & 9 2
7. What according to the passage are the
manifestations of social movements ? .
FTEAR &t
SRRt w8

1. Aggressiveness and being incendiary
ST 3R e 2|
2. Instigation by external forces
TR Tl & BRI IHET S|
3. Quest for social equality and individual freedom
BLIEHIRCIE T Bl T
4. Urge for granting privileges and self-respect to
dispsaraged sections of the society s

Al & eIl
ST IS H H AL |

Select the correct answer using the codes given
below :

=frer fau 7T Fe w1 wENT Y |E I P ¢

(a) 1 and 3 only / &ael 1 31 3

(b) 2 and 4 only / e 2 3R 4

(c) 3 and 4 only / %aet 3 3N 4

(d)1,2,3and 4/1,2,3 3 4

3ITT-(¢)
FRE-AEY & FER  EiSe  sideH &
ARyRRAl QIS FHMAT 3R aafthe @dad &1 aary
T GHIST & STEHITT aTf ol faQIoifResr 37t Sees
M HE H R ¢ faEweie dw § ReaE s
SISO I SEHd Al w1 SHS S 31, &Eg
@R AN AT F fIu sfided, Al stieeH
g T QTR a1 ST e qem HrHISreh e
I ARKE Weaal & o0 fohar 7= fieie, |
Fiere @ et 8
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8. With reference to the passage, consider the
follqwinéstqtemeqts .

T, frafafas st @ faem
AT :

1. To be a creative society, it is essential to have a
variety of social movements

TN a4 o foe fafae yem & |
e i g a2
2. To be a creative society, it is imperative to have
potential contradictions and coflicts

U A & fo, Hrem siafaaei 3R
et T BT STAEYT 2
Which of the statements given above is/are
correct?

Sude § ¥ BH-AURA-T we wE 382

(a) 1 only / Fad 1

(b) 2 only / et 2

(c) Both 1and2/1 3 2 aFt

(d) Neither 1 nor2/ T 1 3R T & 2

3T (¢)

T — fqwmsier 2w § Rl o SHenfaa @
IS F I3, 9 WrEEdr SR sl & fou
e H goMuiel WA & AWl % oo &1 S
gl 9 a9 & fau fafew seR & @
AdeHl B BAT e 21 gemfa e &
raeroT foRe g9 & oo & 39 =T &I Ay et
2, o ot T | g R R 3R 9hEa 8
334 81 o1 Geeiel WA A & forn Heren sfafee
3N GESl 1 gl STEYaH g1 3T HUH Uh TH &l
a4 T B |

Directions for the following 6 (six) items :

6 (D:) T %;

Read each of the following two passages and
answer the items that follow. Your answers to these
items should be based on the passages only.

WGt 7 ¥ Ye i Ufgu AR
I WA feU T yeiIn o IR W 3T wwAivn
o MUk ST hael A9l U & e g =nu)

Passage-1

Ecosystems provide people swith a variety of goods
and services; food, clean water, clean air, flood control,
soil stabilization, pollination, climate regulation, spiritual
fulfillment and aesthetic enjoyment, to name just a few.
Most of these benefits either are irreplaceable or the
technology necessary to replace them is prohibitively
expensive. For example, potable fresh water can be
provided by desalinating sea-water, but only at great cost.

The rapidly expanding human population has greatly
modified the Earth’s ecosystems to meet their increased
requirements of some of the goods and services,
particularly food, freash water, timber, fibre and fuel.
These modifications have contributed substantially to
human well being and economic development. The
benefits have not been equally distributed. Some people
have actually been harmed by these changes. Moreever,
short-term increases in some ecosystem goods and

.

services have come at the cost of the long-term
degradation of others. For example, efforts to increase
the production of food and fibre have decreased the
ability of some ecosystems to provide clean water,
regulate flooding and support biodiversity.

-1

uiRfeafra-da o @ fafay yer 3 awqd @ gand
feriew, wrm, S fafaee, stenfas ofam @
Tieedwe 3Te, $& 91 AT ST Fhd &1 390 9 st
o A1 Al SRR § A S wfanfud s el
St Sfoves €7 § 7l 81 e, 9l e @
foerauiientor T 99 FEU Sl ST HUAT ST T €,
e 718 STt o W & G 2

T § Sedl o9 SHEE T awge R gt #),
farIveR @, STeguT Sel, SHNGT oihel, 19 3R gu 7,
AT T g omavadalel @ Ifd & fAu gt &
R i aea el 81 3 SMRad-t 3
T % BT SR STl faeE # R e fea
F o guH w9 § faaRa 7 gu &1 3 uRaddi @
ST g B §E ¢ Sue Stffen, WRfefis-T
T© gl @ ARt @ eeuaty gfy, gl & defafy
ST # A W g 21 Send, @@ ud W@ &
IURA H qIE &k T § B TRffaE-aa @ fa
ol Y& W, a1 FERa S aur Se-fafaear # men
Ja B S eTar § g ge 2
9. With reference to the passage, consider the

following statements. .
St o wed §, et et v frem
Ealsiy

Expanding human population has an adverse
effect on :
AT T TAEEIT T Wierehel YOITd Ugam § ¢
Spiritual fulfilment/ 3Tefcyeh RAN T
Aesthetic enjoyment/ ST 3= T
Potable fresh water/ U9 3Tad0 STl T
Production of food and fibre
W TE W o I T

5. Biodiversity Sta-faferermr @

Which of the statements given above are correct?

F ¥ - e TEl 8?2

(a) 1,2 and 3 only /e 1,2 3 3

(b) 2,4 and 5 only/ &ae 2,4 3R 5

(c) 3 and 5 only/ %ael 3 3 5

(d)1,2,3,4and 5only/ 1,2,3,4 35

3T-(c)
HRET— AN & IR dgdt q-d Sue ¥ 9
AU T TG SN Sta e w g g9 g
21 T % W Ted HAT S | aegel SR gasi &
foreveR. @, STerT @, SR ol Wi iR e
T TG g8 STaTIHAR ol Y o foru g o qRRefie-
T B RIS de Srel &1 9% WY & @WE ud Wi %
I F TG F TN ¥ 39 WRRefE & @ fa s
Yo &, a5 # R S qdr Sa-fAf R sem
FT T & § B gam T

21
F9

B
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10. The passage mentions that ‘‘Some people have
actually been harmed by these changes’’. What
does it imply?

SrET & Seer ¥ B g wfEde & g e

= g T g €1 39 e W R siafafa €7

1. The rapid expansion of population has adversely
affected some people./SHEEAT & dig ghg &
T A W Ffga T 9T 7

2. Sufficient efforts have not been made to increase
the production of food and fibre.
T Ud W & 3Aed § gy an & faw gara
Yo & g E

3. In the short term some people may be harmed,
but in the long term everyone will benefit from
modifications in the Earth’s ecos%stems.

gt % RFE-dA | g sTeqmafy i
¥T A 3 TR g e Fd 8, B detat
& el i e e

Which of the statements given above is/are

correct? )

Sugerd # W RF-FU/RA-T wuT T 32

(a) 1 only /&ad 1

(b) 2 only / Fae 2

(c)land3 /1313

(d) None of the statements given above

S ol B § g off

3TT-(a)
- TE # 3eerd @ 3 aRaddl § F@ an
F e @ g 21 39 %o | siatied & - SEen
# f 9fs &1 P2 A W T g1 g1 St &
Y el SHEE H AR REIEINC AR CNLC
W, AU S, SHNG! R, 9 N e W oqUn
B I A W AR T Tl 2
11. With reference to the passage, consider the

follqwinéstqtemeqts :

¥, fafafaa saat W faemw
Eﬁﬁﬂ'ﬁ:

1. Itis imperative to modify the Earth’s ecosystems
for the well being of mankind.

G STf &% HearT & o gedt & qiRfefiest-aat
I SURAfTT BT STEELIS ¢ |

2. Technology can never replace all the goods and
services provided by ecosystems.
of - g ed & S
arett Tt aeqeT wd anew @1 we T o g
Which of the statements given above is/are correct?
[ & HF-|/RH-H HA G& 2872
(a) 1 only /a1
(b) 2 only /e 2
(c)Both 1 and 2 /1 3R 2 &t

‘g q AR AW A A FAIRTTEE ? A 39
it & aret SR sves ' 8 sl 8l
IR, T S 1 faeauiieN & 9 e S|
IS FHAT S Gl B, foheq 8 TfEsh A W&
g9 21 IR &1 S Y KU 2 H HA THIUE
F 2 fhq T W a1 SN FW TH WA B SW
ferheq (d) =T TR 2

Passage-2

A moral act must be our own act; must spring from
our own will. If we act mechanically, there is no moral
content in our act. Such action would be moral, if we
think it proper to act like a machine and do so. For, in
doing so, we use our discrimination, We should bear in
mind the distinction between acting mechnically and
acting intentionally. It may be moral of a king to pardon
a culprit. But the messenger carrying out the order of
pardong plays only a mechanical part in the king’s moral
act. But if the messenger were to carry out the king’s
order considering it to be his duty, his action would be a
moral one. How can a man understand morality who
does not use his own intelligence and power of thought,
but lets himself be swept along like log of wood by a
current ? Sometimes a man defies convention and acts on
his own with a view to absolute good.

-2

T At P AN TG FA ST AR gAR 31q
Yhew ¥ TEHA &1 =RT) Al &9 FHad Hd o &, @
TR FA F FE A € T A T/ FA ad A
2, AR &9 9T F @ HE HH B ShAd G SR 9
TBR HE HL | FAfH, TA F gL 7 39 [ 1 G
F 21 EH AU A i @0 ¥ HE A SR Wi
FE FH & 99 fode T Tfewl R T & v s
U T G AT A 8 b 2| ﬁ;-%ﬁs;&mﬁﬂ
& STQY F UCH HA ATl 7 AT b 3

q &g A oam R @d o1 Folg I F19 2

12. Which of the following statements best describe/
describes the thought of the writer?
frafafaa & @@«

-HI/RE-8 ®IT AGH H
feremdt =t watw quis ar F/a 87
1. A moral act calls for using our discretion.
it F # ofd F U e e @ s
YIS 2|
2. Man should react to a situation immediately.

forddt feafa & ufa 79 & stfacia sfafshar e

(d) Neither 1 nor2 /A @l 1 3R T & 2 =few)
3-(d) 3. Man must do his duty.
T — TR i W 9 92 T FE TR R qﬁwﬁaﬁﬁwwwmaaﬁ d
A - %@ & ¥ TRfRE 31 5 4. Man should be able to defys convention in order
A 3 q ] 3 to be moral/ o "™ H wfe F
STfafdd ST 3T g1 3T HUF 1 Tod g7 Wmﬁmﬁmml
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Select the correct answer from the codes given
below :

frer feu TTT e @ wETEAT ¥ e I AT
(@) lonly /&ad 1 (b)land3/1 3 3
(c)2and3/2 33  (d)land4 /1 3R 4
3IT-(d)
RN — Hftsh FoT & g % foIu 7o fas = =
YIS 2, s TH S FI SAN U FoA gl
MR, TAR 379 Teohoy T FEHET ST AMRYI 371 B
TF T 21 79 SIR® FUF 4 F FER A o F
fau ag @ ®fg # saw s § v g A, o
g g1 i S A ol afg Sl foER vtk @ s
TE F SN T F YR F YR F T AR F <
A a8 S &A1 §, d€ SARh Al S Tel THg Febell 8
13. Which of the following statements is the nearest

definition of moral action, according to the
writer?
TEH & JIER, fAfarEd ¥ | &H-91 weA
Aferer e st Trereaw aftamr 2
(a) It is a mechanical action based on official orders
from superiors./q8 BT F SIRFRE MW R
e 7 5 &
(b) It is an action based on our sense of discretion.
Tg U fas-ae W AR e 2
() It is a clever action based on the clarity of
purpose.
77 I2YT N EEAT W AHRT TR FA 2|
(d) It is a religious action based on understanding.
TF THY W IR efis e 7|
ST-(b)
- AGFH & AR Afdh Fed F Fhean ufam
g - T o ATy W ERG o 31 NN
ol foe g1 8, S g 49 H @ HE B H S
T § U 79 H e I B A TH B T
A f4a9s &1 T i § i e FI TR s
Y R/ 3R Fed 2
14. The passage contains a statement ‘’lets himself be
swept along like a log of wood by a current”’

Among the following statements, which is/are
nearest in meaning to this ?
TG | ek kel & foh @& &l &R & YaE &
T AR h Fe & GHHE &g WA e 21
frrafafaa § @ FE-AVRE-T ®UA, TARVTTR
frereaw aref #/87?
1. A person does not use his own sreason.

faT ST Tehdf5 I FANT Tal el |
2. He is susceptible to influence/pressure.

T ST/ o i w7
3. He cannot withstand difficulties/challenges.

T8 HiSTEEl AT T QAT Fei B TehelT|

4. He is lik a log of wood
T8 Thel & B2 b GAH 2|

Select the correct answer using the codes given

below :

rer faw 7T e w wEEEr ¥ O I g

(a) 1 only /&ad 1 (b) 1and 2 /1 3 2

(c)2and3/2 33  (d)land4/1 3 4

S7l-(b)
RN — AW & F9 ‘T B 9 & Y46 & 9
THE F F= F TAE 9 9 @ 21, F Fpean o
AT HIU & — AN ST T F FANT T HLT a2
o€ SHE/EEE & A SAfa-uHe 81 UEr s S e
T g F T T B 81 g8 Afaebar F A TR
ool € 4T SUb SR Wit 1 s T A W 2

Directions for the followmg 4 (four) 1tems

4 (II)

Read the following passage and answer the items

that follow. Your answers to these items should be

based son the passage only.
T YYAIIN ok ST AU T YIAIIN K MUk ITX
A ARGV UT g MR E =)

A country under foreign domination seeks escape
from the present in dreams of a vanished age, and finds
consolation in visions of past greatness. That is a foolish
and dansgerous pastime in which many of us indulge. An
equally questionable practice for us in India is to imagine
that we are still spiritually great though we have come
down in the world in other respects. Spiritual or any
other greatness cannot be founded on lack of freedom
and opportunity, or on starvation and misery. Manys
western writers have encouraged that notion that Indians
are other-worldly. I suppose the poor and unfortunate in
every country become to some extent other-worldly,
unless they become revolutionaries, for this world is
evidently not meant for them. So also subject peoples.

As a man grows to maturity he is not entirely
engrossed in, or satisfied with the external objective
world. He seeks also some inner meaning, some
psychological and physical satisfactions. So also with
peoples and civilizations as they mature and grow adult.
Every civilizations and every people exhibit these
parallel streams of an external life and an internal life.
Where they meet or kep close to each other, there is an
equilibrium and stability. When they diverge conflict
arises and the crises that torture the mind and spirit.

3o g AW faRe 9y & oA g @, A 9 e
foered 97 % Al & S @ et dedr 8, iR e
A TEH HA F FHogdE H i U 81 T8 UH
Al SR waws e 8, fSEd e § ¥ emw w
wd &1 g 9! S ag SR o 3 & SYEeE @
g9 o off 78 g § % e emewfa 3 ¥ wem g,
S &9 ot famal § fava & 49 on 9% §)1 evemla
T D HIT HEHAl, @oFdl R FTHL F A H AT
Tl 3R 3@ % WA gU Hefid 9d A ST Gt a8
T U WEd 3 g9 GRS aeEn & 8 5 andE
WAS-TIV &1 wwer § 6 & 9 # feiT iR st
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z: A
2

is
CE!

;
:

£

Hqa i R wd 81 = ¥ frm fawmedt

¥ =t I €, 9o Sd @ S @ e HA S STe

FOT 3 ATCl TSR 3 & S 2 |

15. The passage mentions that ‘‘this world is
evidently not meant for them”’. It refers to people

who :
AW ¥ Seoig ¢ for ' g oliieh gerara: S+eh fog
T B g ST e et fAfdy @ g, <
1. Seek freedom from foreign domination.
fereft wgeT @ T =red €
Live in starvation and misery.
3 g I e S &
Become revolutionaries.
SHifasrl a7 S £
Which of the statements given above is/are correct?
[ | RA-TI/RA-T wmeT TE &2
(@) land 2 /1 R 2 (b)20nly/aa_°|FfZ
(c)2and3/2 33 (d) 3 only /Fad 3
3TT=(b)
AT — dEY # Iy ¢ 5 a8 A Yoo s
fow 7 21 7 =7 At 1 ffdE war € S qEed el
3@ & Sffaq ofid €, e qend ik 3@ F Sfeq o
Tl 3 SR & 9 § E Ff AR 39 A% w7
A= o < Thal| Jadad A Ff THERaaee § o
2, “wUdE g g@ A seiq s@e =fe & e
TN T AT BT 3R I BT AT
16. Consider the following assumptions :

Frrafefaa et w faem St
1. A country under foreign domination cannot
indulge in spiritual pursuit.

A & T TH I e S H
o Tl B HeHl
Poverty is an impediment in the spiritual pursuit.

SFTERT e sreries 2

Subject peoples may become other-worldly.

EE) TR 5 Hehd £
With reference to the passage, which of the above
assumptions is/are valid?

2.

3.

2.

3.

R — war § aftfd 8 S @ w el v %
I 21 @ 79 J% R fae@ g & el # adee 9§
T el @ 3R U fid WeW da A souel #
e UIT 21 37 39 Ut ¥ BN U oW ¢ | d@ry ¥
Fftia ¢ 5 smefrsar a1 3 FE HEMAr WA SR
TR F A § 7 @AY N W F @ gy G
TE A S wEA| o o & T 71 e 3 sy e
F9 &3 T WellH- T o S & | 3 F9 4 4 T 2

17. The passage thematically centres on :

2] -a5g frafafaa & @
o o i3 &7
(a) the state of mind of oppressed people.
3cdifea @it ord
(b) starvation and misery.
TR R 3T W
(c) the growth of civilization.
Tl & fawe W
(d) body, mind and spirit of people in general.
G Tl % 99, A9 3T 3T |
I~ (a)

T — ITH d@ i f-as st an
AW W HEd 21 fe e 9 At @ A
AH-TF0T B 1 BI &, SAH AAISI shifdh g
W & T8 AF I [0 B 7

18. According to the passage, the torture of the mind
and spirit is caused
791 & STIEN, T 3 Ieur s FAw *
HIRUT T &2
(a) by the impact of foreign domination.
foaeht wym @ e
(b) by the desire to escape from foreign domination
and find consolation in visions of past greatness.
foeeft o= ¥ o # 3w 3R #i9 weE Fd
W Fogstt H diceHr g
(c) due to lack of equilibrium between an external
life and an interal life/sTel Sfta 37 fafiss Sha
& da S @ e
(d) due to one’s inability to be either revolutionary
or other-worldly./=fad & 3w & 7 @ a7
SHifaeBrd & 5 9T € T & TeArh-
I7T-(¢)
AT — WY F ER F9 3R e # = F
IO A S R AR Sted & fiF Hqed @
HUE T TEF A a4 TS SH S Sfad 3R
iR Ste & e G fid s 1 Jard Hid ¢ |
Directions for the follovying 4 (four) items :

4 (M)

- I Read the following passage and answer the items
T % S a;.,) |, -t / that follow. Your answers to these items should be
A=A e /2 7 based on the passage or;%.
(@)land2 /1 3R 2  (b) 2 only /&ad 2 frafeafaa Saier s ufen 3R SHe SWia fou
(c)2and3/2 33 (d) 3 only /Fad 3 T YYAIPN & ST ST 3T YOI S MUeh I
I-(c) HAA AW W E e B =
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Passage

A species that exerts an influence out of proportion
to its abundance in an ecosystem is called a keystone
species. The keystone species may influence both the
species richness of communities and the flow of energy
and materials through ecosystems. The Sea star Pisaster
ochraceus, which lives in rocky intertidal ecosystems on
the Pacific coast of North America, is also an example of
a keystone species. Its preferred prey is the mussel
Mytilus californianus. In the absence of sea stars, these
mussels crowd out other competitors in a broad belt of
the intertidal zone. By consuming mussels, sea star
creates bare spaces that are taken over by a variety of
other species.

A study at the Unitersity of Washington
demonstrated the influence of Pisaster on species
richness by removing sea stars from selcted parts of the
intertida zone repeatedly over a period of five years. Two
major changes occurred in the areas from which sea stars
were removed. First, the lower edge of the mussel bed
extended farther down into the intertidal zone, showing
that sea stars are able to eliminate mussels completely
where they are covered with water most of the time.
Second, and more dramatically, 28 species of animals
and algae disappeared from the sea star removal zone.
Eventually only Mytilus, the dominant competitor,
occupied the entire substratum.

Throug its effect on competitive relationships,
predationby Pisaster largely determines which species
live in these rocky intertidal ecosystems.

TH S S R oRfefed-dr § e SR &
ST F T F YA SO 8, IH poivrer (FEH)
ST a1 S 31 AR () S, S )
# ggfg q oRfef-dHl & =ra el o et &
Yalg &1 T L Tehd! &1 E AW ey e
off, ST b ofRer & weid WrdE d@ W =g
T uRfEfe-a § @ 2, Seiren (He)
S H TH IR §1 HH qEdE R e
Hermiarg oy 81 T awst # suf § 3 v
siead yeyr # foga Ut H et ot wfafEl ¥
&I H Tat e a9 S § f 3% fau we A
Bred | T R 39 e B AW a9, 39 9§ e
T I H A & fored fafy weR st et Sfaat et
forq <o = el )

At fafamre g/ e U us stee | ui"
aﬁﬁmﬁmﬁrﬁam%aﬁwﬁﬁmm
# GNAR g S A guls W uEdwel & w9
e T @1 S &Rl § W AR e T e, S

:

@ & T ofda: 3@ Q TR H IW &9 F e

sfeanht ffeerd 3 stehel & 9T foran) WEERR % qeeRi
g, At geeel W ggq aren g9 & I8 AR
gfeaT & @ 5 Fer sdeeta aRfefa-aE &
A G Sl & e a1 @

19. What is the crux of the passage ?
T T o g2

(a) Sea star has a preferred prey.
TR T ST Th THLT bR & 21

(b) A preferred prey determines the survival of a

keystone species.
Felfere (FEH) S - Iawsifoar  qEdar
forer @ fwifa & 21

(c) Keystone species ensures species diversity.

) Sifd, Sufd st fafaedr
e Fa 2

(d) Sea star is the only keystone species on the
Pacific coast of North America.

T8 FHRET & T GE de W R a0
THHT FSTITE (FEH) I 2
3TT-(0)
T — T & A g 5 Helifvren () S,
Sfe & faferemr # gt s @) s gEde e
fafeorg Sty 21

20. With reference to the passage, consider the

follqwinéstatements
IgECI frefaflaa weAt @ fomm

1. Mussels are generally the dominant species in
intertidal ecosystems.

2l

i TG SaUsad aRfefrd @ @ geae
S 71

2. The survival of sea stars is generally determined
bythe abundance of mussels.
St B U B 1 o s o e R o e
geed ¥ fuifa a2

Which of the statements given above is/are correct?

HI-TI/hI-T He TE /27

(a) 1 only /&aa 1

(b) 2 only /Fad 2

(¢) Both 1 and 2 /1 3R 2 &t

(d) Neither 1 nor 2 /A a1 1 3T & 2

ST-(d)
AT~ HI TH 71 & AT & T g1 Y T
e wRRefaest @ # yeer Sifd @8, Wt
3= T AR TS ¥ F H AT W §, a1 9
AR 1 Seitedr viged & 78 feifa @ 21
21. Which of the following is/are implied by the

passage?

frefafiaa § | - |UF 9T A E@ivt g
T BT /A &2

1. Mussels are always hard competitors for sea
stars.
T e G AR S SR e s et &
2. Sea stars sof the Pacific coast have reached the
climax of their evolution.
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TRIG PR A€ & T aR {9 6 T W
B T ¢

3. Sea stars constitute an important component in
the energy flow in intertidal ecosystem.

uitfefaet-da § et yare &
el G |
Which of the statements given above is/are
correct?

T ¥ BA-TVRA-A wHoT TE 3?2
(@land2/1 3R 2  (b) 2 only /FdeT 2
(c)land 3 /1 3R 3 (d) 30nly/§v‘°|?f3
STT-(d)
- T8 R SisaiE TRRemest-dr § el
YaTg % QUi e &1 Holfvre (FEH) S, S
F TR S g dor TRRufE-TE § s S ik
qgel & A I gAlad A G 81 gd aw o
Fefiferen (FF=H) ST 1 TH I 2
22. Consider the following assumptions :

Frrafefaa et w faem St

1. The food chains/food web in an ecosystem are

influenced by keystone species.

uRfefial-a1 § wra-gean/am e, et
(FFEH) Sifa | yaifad & 2

2. The presence of keystone species is a specific
characteristic of aquatic ecosystems.

Fefdren  (FLF) S H IufRfd S
qRfeRE-aa & T AR & 21

3. If the keystone species is completely removed
from an ecosystem, it will lead to the collapse of
the ecosystem.s

R Frell TRfRfE-iT & e () s
@ Qi ge1 faar S, @ Tee ag Wi
frepel e &1 S|
With reference to the passage, which of the above
assumptlons is/are valid?

PIs0) weod ¥, -t Sude Ay
TT=reTd e /87

(a) 1 only /&ad 1

(b) 2 and 3 only /Fae 2 3 3

(© 1and3only/3v_clﬂ 1 33
(d)1,2and 3 /1,2 3R 3

37¥-(c)

EET—-Aa & g # wear 1 a9 @ i e
TR Tgelt & T S0 § A s B AN
yofeet &1 T A % T @A W YA A e ag
st fSEE e yenfadl @ SUH I TR W 9EH
m|ww,wﬁf@4ﬁ$ﬁaﬁ@rﬂﬁj@w€mw
e & efer B |

AN Ay g Ffh G F Fa
W%ﬁ%ﬁ@?aﬁ mmﬁmam
3T § g et SR veren @ 28 yefot W @
T SN Siad: 3@ W FWEN F kol [RAT T W
foram

Direction for the following 5 (five) items :
Trafefaa 5 (dien wo=ivn & forg fdr -

Read the following passage and anwer the items
that follow. Your answer to these items shouldbe

based on the passage onl

! 4 ﬁém a @ ufgu X U Swiia fau
T YYATIN ok I AU 3T WYATIN K MUk ST
HAA AGIIT U e e =i

Passage

Now India’s children have a right to receive at least
eight years of education, the gnawing question is whether
it will remain on paper or become a reality. One hardly
needs a reminder that this right is different from the
others enshrined in the Constitution, that the beneficiary-
a six year old child cannot demand it, nor can she or he
fight a legal battle when the right is denied or violated. In
all cases, it is the adult society which must act on behalf
or the child. In another peculiarity, where a child’s right
to education is denied, no compensation offered later can
be adequate or relevant. This is so because childhood
does not last. If a legal battle fought on behalf of a child
is eventually won, it may be of little use to the boy or girl
because the opportunity missed at school during
childhood cannot serve the same purpose later in life.
This may be painfully true for girls because our society
permits them only a short childhood, If at all. The Right
to Education (RTE) has become law at a point in India’s
history when the ghastly practice of female infanticide
has resurfaced in the form of feticide. This is
“’symptomatic of a deeper turmoil’ in society which is
compounding the traditional obstacles to the education of
girls. Tenacious prejudice against the intellectual
potential of girls runs across our cultural diversity and
the system of education has not been able to address it.

9 SEfh qRd H aedl B FAad S ot R
TRV T FH ARG A & T 8, Te qheAD W I &
f6 ¥ T@ ARSBR Had HOS d% i @MW e
EAfhdT B FT o FHMI TG AR A & TR &
e 2 T I8 AR gfaye # sfreiiy o siten 9
AT 8, FE THH A - P ®: AU Sy 9
T S AT B FEA/A 8, T & 39 R ¥ dfd g
SUET THH IoE B W FAA ASE A THA/A 2
wff ame §, 98 au 9N & © O aed & R 4§
Bl gud e sw e ¢ B ose e

I gy

g oo § fafr s w9 gRer fear 8, R gug e fg
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T F IRV AT GO E ok &Y H [ IW 2
T TN § e faRl S gue S #
e & o ATt W stenstt % WY feeR 39 e
TE @ 81 Sfcrmist F Al Hd b s Th g
@i el gf wipfes ffed & sra @ qw fwen
W@ﬁsﬁgmwﬁﬁmﬁlﬁ%

23. With reference to the passage, consider the
follqwin_istatements

¥, frefafiaa oAt @ foem
aﬁ%rq:

1. When children are denied education,
society does not act on behalf of them.

S a=dt i R 9 s W S 8, aueh SHS
3T AR T HIE FEAaR T8 Hrl

2. Right to Education as a law cannot be enforced
in the country.
aw ¥ e @1 after fafy & w9 # wafda =&
[ERIESIRECl
Which of the statements given aboe is/are correct
2| I WA HYT TE B/E?
(a) 1 only/ %aa 1
(b) 2 only/ Haet 2
(c)Both 1 and 2/ 1 3R 2 &
(d) Neither 1 nor2/ T a1 1 3R T & 2
IT-(d)
T — Ei # Igyd @ 6 afy awt @ fomw §
e @ S 2 A weft Al #, 98 99w gue & @
8 a=d & AW T FEAE FET NI AT FUT TH
T 81 T B ff 3 ¢ Fifh o § 7w oft
Iqyd ¢ & ol sfer § fomn & R 3 3@ e
i fafyy &1 w9 awor R B, o e we frg sen @
TROT JAT T I HL 3TE 2| o7 ey d T 2|
24. According to the passage, what could be the
traditional obstacles to the education of girls?
9T & 3TIEW, Torer e
O ST SreT-or 87
1. Inability of parents to fight a legal battle when
the Right to Education is denied to their children
- g1, ot S & fom & freR ¥
A T M W F ASE de § sramedan

FT 3ME 21
afershratt
et 39

adult

ST — @Y & SFER, aiferpreli s e s s
T W e wee # aiferred @ ofter & famg #
wfeardl g, aifceel & sifgs &Far & favg Th
T qate, S eHd g Giepe ffeem & sra @)
THF Al gt forear someh S 59 @ w § aramd
21 o1 %A &1, d9 Ud 9 9e e 2

25. On the basis of the passage,
following statements :

e W, frAfaiaa wmeAl W faem
HIT :

1. Right of Education is a legal right and not a

fundamental right.
R @ TR fafie SRR 8, qE SR
T |

2. For realizing the goal of universal education, the
education system in the country must be made

identical to that of developed countries.

Td foren & @ A W A & fow, o e
Yot Bt fafad e @t Rrm s & wwe
ST HAETTE 2|
Which of the statements given above is/are
correct?

Sude # | wIT AU T T R?
(a) lonly/ & 1
(b) 2 only /Faa 2
(c) Both 1 and 2 /1 3R 2 I
(d) Neither 1 nor 2 /9 alemad2
3T-(d)
- T AEY & ER W FIH & e
IR g T AT ST HehaTl I HUF 1 SR FUE 2
SRR
26. Which one of the following statements conveys
the key message of the passage?
WA-HT HAT TW QW & TA
HIIT Y SR AT &7
(a) India has declared that education is compulsory
for its children./9Rd = =g SO T & B fh oW
& eat o forg fw sifrard 21

(b) Adult society is not keen on implementing the
Right to Education/aa% TaN e &

consider the

2. The traditional way of th1nk1ng about rls role i FEET %ﬂ = ERE
in society. /T ¥ afershieit S i (c) The Right to Education, particularly of a girl
wfeardl e | child, needs to be safeguarded./frer F AR
3. Thle prejudice against the intellectual potential of F, frgre anfersmratt g@ T FAT AVTH 2
girs. d) The system of education should address the issue
et 1 st 4o & faes tf{f’ﬂ'a’l @ of Riyght to Education/f¥rrr womelt &1 foremr &
4. Impr(;%er system ;gﬁg#fanon 3R ¥ ﬁ ¥ wfy e 2 =R
7 3T=(¢)
Select the correct answer from the codes given below - -
U U e F e ¥ W IO g ¢ | | S — é@m%@ﬂ%ﬂﬂﬁ%ﬂq(c)mmél
(a) 1and 2 only / 3da 1 3 2 ST oTER fren % R 3, favive afeeei o,
(b) 2, 3 and 4 only/ &ad 2, 3 3R 4 www%mﬁr%m w7 § T8
(c) 1,3 and 4 only / Fael 1,3 3 4 g 2 f5 gAR 9O & g 3% A fyed of @, ar
(d)1,2,3and4/1,2,3 3R 4 e SR & faerdt 81 o aiferredt & forw faw
3ITR-(b) % SR F fo e § |
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27. Which one of the following statements conveys
the inference of the passage?
HIH-UT Ush hoF, T0 /G o
foreret ot worer et @72
(a) The society has a tenacious prejudice against the
intellectual potential of girls.

U sfersT # Sifseh ema & I U g
a4 7 2

(b) Adults cannot be relied upon to fight on behalf
of children for their Right to Education.
T o e & SAfeR & fau @9 3g s W
T e feRa S wehaT |

(c) The legal fight to get education for children is
often protracted and prohibitive.

aedt i o e g FA Aer agen dEt iR
fomee it 21

(d) There is no sufficient substitute for education
received in childhood./aTeamaeer # et & areit
fren &1 1€ o gata ferergT 7€ 2

IT-(d)

ET— @y & 758 & &99 D &h &l 2

STTHR
yate e @ 81 FfE afk Rl s
iR § dfd fovar Sam 2, a9 =g # famn
TIEST 7 @ A R A & s g 81 gHw g
eyl BT 78 B 3 sToaree s T e

Directions for the following 8 (eight) items :

frrfafiaa 8 (21e) wyaion & fera ot -

Given below are eight items. Each item describes
a situation and is followed by four possible responses.
Indicate the response you find meost appropriate.
Choose only one response for each item. The
responses will be evaluated based on the level of
appropriateness for the given situation.

Please attempt all the items. There is no penalty
for wrong answers for these eight items.

o oe yAiwr feu U E1 e weEivt § U
feafa o auie 2, Rraeh v 39eh 9) €@9a 3T
fe u &) R 3T & 3w watfres Suged o €,
IH 3T (0 ST & ®U § 3Iifera oW Teren
TIAYT o U AT Tw &S gHw ST @
g, & T fRAfy & fou Sugemar % W &
SR W TR ST

o weft yeAien & SR S 39 e weAteh
& feTT T 3T o fore g dE T R
28. You have been asked to give an explanation for

not attending an important official meeting. Your

immediate boss who has not informed you about
meeting is now putting pressure on you not to

place an allegation against him/her. You would
Teh TEeul snferentite dow & FufET A TR

HRUT MU THERT WHHUT AW T f
SATRT/EhT AT AR E U 30 A3k
i W & & off 3@ 3T W I gana ST
T & foR oa geRT 99 59 W A T @ u
1T AT /T2
(a) send a written reply explaining the fact

T I AT Fd g 0T fafiad Im A |

(b) seek an appointment with the top boss to explain
the situation

e et # fofd ¥ e@m 4 %
forw 3o 9 &1 gug o7
(c) admit your fault to save the situation

fefe s e & forT S7oT 2 iR ST

(d) put the responsibility on th coordinator of the
meeting for not informing

& gEIEh W gHEH A o1 3 f 39
3 TR T &
3T{-(a ATb)

AT T ORI 39 e & S i g
YT fAfd ST S Stuer oTud Tared e &

ferfa & s/amd F & fou 399 e &1 gHa o
29. A local thug (bad element) has started illegal
construction on your vacant plot. He has refused
your request to vacate and threatened you of dire

consequences in case you do not sell the property
at a cheap price to him. You would

ey i et ut FHfie uv 3rder
frrmtor emer & feam 21 s@= STt @reft & @t
JMUERT UL Rl Team & 3R 3Tueht og erwaht
T erelt ¢ fom afy emom g ot we ol WsE
E St |t TueRt SfwuT URUTET ST |IEAT ST
TSI TH T 31T AT T ?
(a) sell the property at a cheap price to him

A SHE T qm W I & 3
(b) go to the police for necessary action
(c)

3Teva® HEAR o U qfere & qr™ S|
(d)

ask for help from your neighbours
g Hag /|
negotiate with the goon to get a higher price

3 R F SR o Find T F Y E A
FUT|

I-(b AT d)
=T — ge uRfefd § ey savas wRfew &
foT gfere & g ST e 39 T2 ¥ R AR FHa
I+ & T 389 aaEa ST
30. You have to accomplish a very important task for
your Headquarters within the next two days.

Suddenly you meet with an accident. Your office
insists that you complete the task. You would -

H U AT o T 3TTOeRt
Teh Tfe AEcaqul el GO AT §1 ST g
MY geleAnd & Wi € STUeh whraiers 3T
T IE W T @ § R 3u et s g
TH | T =T hilr?
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(a) ask for an extension of deadline/®M™ YU FH H
sifam fafer T Tt 9 SRR AT
(b) Inform Headquarters of your inability to finish
on time/ I gfod 1 % 37 g9
q & QU o T § e €
(c) suggest alternate person to Headquarters who
may do the needful/3T94 &A™ H Th Fehfeds
AT FT A7 G ST b1 G B Fohell |
(d) stay away till you recover
B T T o4 W
SH-(a ¥l c)
- TvT uRfEfd § o #m g s & sifaw
fafyr st ag@ @ oFHlq A S1FE T ey &
T B A B AW G S FE [ H GHA 2
31. You are an officer-in-charge for providing basic
medical facilities to the survivors of an
earthquake affected area. Despite your best
possible effort, people put allegations against you
for making money out of the funds given for
relief. You would
fortlt T WohT weTTfera & W oJehT o ang Sitterd
o AN Al Gord Tofehed Gemd e & &
fore st g ettt e feRam T 1
STUHT T WA HITITIT & ATESIE, AT AR HUT
TE AT o W ¥ R onw wew & fog & v
[T | 48 941 W@ §1 AW H o9 = wr?
(a) let an enquiry be set up to look into the matter
M AR T e § Se-ugda URe @
L

(b) ask your senior to appoint some other person in

your palce/3Tq7 aits IR T faeT w4t fF 3
3T T W fREl g =l & fge #1
() not pay attention to allegations
k&l T HIE A Tl &
(d) stops undertaking any initiative till the matter is
resolved./STdl Tk HHAT Hele T ST w5 H I
FE TR TE H
ST-(a T c)
T — yeAd uRfefy # oMy wwh 5 gw g6y §
S gSAA SRA F ST AT I AU W B S
& &
32. You have been made responsible to hire boats at
a short notice to be used for an area under flood.
On seeing the price mentioned by the boat
owners you found that the lowest price was
approximately three times more than the
approved rate of the government. You would .
T are-tifga o o T FoAT W
e W @ T qridred feam 21 <ot
W 9QE g Hhibdl bl 2@ U 9 urd § R
AT HIUT AIRR i ST X F T o=
T AfUE T AR T 3T AT B2
(a) reject the proposal and call for a fresh prlce

TG & E H AL B |

(b) accept the lowest price
Rk I WHR F A
(c) refer the matter to the vernment and wait
FH THR F TH %a & 3 weftem HT|

(d) threaten the boat owners about a poss1ble

cancellation of the licence/=1eT-HIfeTeh I GHah
3 5 3R YUY © & GhT B
IT-(b ATd)
AT — Yo aRfEfd # o9 =Aae i # ©iER
o 3TerT iR ATl H G I I RET W
2 gl 21

33. Consider the following argument:
A m :
‘““In order to be a teacher one must graduate
from collage. All poets are poor. Some
Mathematicians are poets. No college graduate is
poor.’

“W TR % AU @i & e g
savass gl At Wi el g ) ww e
HieT B &1 RIS ShicisT AT TATdeR T=rel 8l &1’
Which one of the following is not a valid
conclusion regardmg the aboe aregument?

q w41
T, du foremd w7
(a) Some Mathematicians are not teachers.
TS TS TS T E
(b) Some teachers are not Mathematicians.
FS AT TR e & |
(c) Teachers are not poor.
e e T8 €
(d) Poets are not trachers
ey reATIe 78
3STt-(b)

TET — g% % STER TeATS 84 & Y Heis

Tas A eEvEs 7l wdft Hfy fea @ g

TS FE 21 o 9 I8 s e @

iUy sTeATT T 2 SR Hicist B BIE TAAh e

T 21 o BT (a) 99 7, S&lH HAT (b) 97 e

T 2, B (b) F ATAR FB AU MO AE B

Ihe T T FE A frerd T e 1 %o (o) F

FER HE A T T8 ¢ e g % SR

P T e T @ qu seATs g9 % e S

Eﬁmwwél Fo (d) off g @ e Sy e 2

I o TS T §

34. The houses of A and B face each other on a road
going north-south, A’s being on the westewrn
side.A comes out of his house, turns left, travels 5
km, turn right, travels 5 km to the front of D’s
house. B does exactly the same and reaches the

front of C’s house. In this context, which one of
he following statements is correct?

E
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IT-TFAU AT Teh WEh T ATHA-HHA A T
B & =X 3, f9ad A o =) ufgerdt 30T 31 A 3
T/ SE A E, S YA 2, 5 km ST €,
Tt gt &, 3R 5 km =t X D F WX F W@
Tga W g1 B oft Sih-dieh TR & W § 3R C
* W FH WEN UgE W 2 3@ wed ¥,
Freferfiaa # ¥ -9 Tk wee |t 82
(a) C and D live on the same street .

C 3R D T & e W & T
(b) C’s house faces south.

C & =R & q@ R H 3N 2
(¢) The house of C and D are less than 20 km apart.

C 3R D % W TH-GW T 20 km ¥ F7 0 W &)

(d) None of the above./35ad § & g T
3T-(¢)

-

I
e
afaror

A 5Km

Oﬂ
Km

DO
ocC

o

OB

aferoT
SKm

I SR ST GSh W A TS B & W SAHA-GET Bl A
1 S U AR 2

A T W Y I AR O e €, 5 . Tem @
T A S S5 . Terr 81 D % A wge ¢ s
TR B ot =er 21

A: 2 3@ &9 FE Ghd & [ C A4 D & W TH
TR F 20 foft. & 9 gl w2

Read the following passage and answer the 3

(three) items that follow

frrfafiaa erai =t ufey i s9e uvenq fou
T 3 (<) TV ok ST ST

A, B, C, D and E are members of the same
family. There are two fathers, two sons, two wives,
three males and two females. The teacher was the
wife of a lawyer who was the son of adoctor. E is not a
male, C is the eldest. B is a male.

A,B,C,D Ts E Ta & aRar & a& &1 3 far
€, 2 o €, & ufeat §, = gew € o & forat €

35. How is D related to E ?

D ST E & o1 Trarel §7
(a) Husband /9fc (b) Son /37
(c) Father /foer (d) Wife /geit
3T¥-(a)
=TET—D, E &1 9 @ a1 9Rar § 999 981 ¢ W6 C
1 31T 21
36. Who are the females in the
W 99e § fout se-aie
()CandE/C 3RE (b)CandD /C 3R D
(c)Eand A /E 3R A (d)DandE /D 3R E
3TT-(c)
ST — 39 G998 § E 3R A R €1 E, D & ueht @
T A, B # Ui TE C AT 2
37. Whose wife is the teacher?

_g;oup"

Tt 378 2?2
(a)C (b)D
() A (d)B
I-(d)

ST — B #1 Ul U ST & a1 B U a9 2
Ud E 1gfq B &1 A frelt oft sreard #i ueht T2 2

frvia @9 SR wae wumen= &g amar

38. You are the officer-in-charge of a village
administering distribution of vaccine in an
isolated epidemic hit village, and you are left with
only one vaccine. There is a requirement of that
vaccine from the Gram Pradhan and also a poor
villager. You are being pressurlzed by the Gram
Pradhan to issue the vaccine to him. You would
Teh 3Teh T | 39 Q- Fevereh
#rih T RIeRw SO aTer g st ¥ i
MUk UTH ohael Tek & WT-faieres tert s
T3 71 39 <ok it TH-Te= 3R St WA *
e e & oft ST 81 ST W g ge e s
FoT ¥ T ot g Fem a-gam= e 2 I H
3T AT /T ?

(a) initiate the procedure to expedite the next supply
without issueing the vaccine to either

Al F & T A T ST Ak FHSTIA WY
e oiw-stis W B % T S B
IE HL A

(b) arrange vaccine for the poor villager from the
distributor of another area.

foredt T e & fass ¥ T & 39 fela & fog
e T e HU

(c) ask both to approach a doctor and get an input

about the g%ency

fr sy @ fied 3 d% &
Wwéaﬁﬁmmémm|

(d) arrange vaccine for the Gram Pradhan from the
distributor of another area.

eI U A F Uk ¥, 7 e U e bt g 851 & faaeh § Im-vuE % forg 2%
1 U ¥ E IEW 7 ¥, URaR H C ol A 37 A e FHT|

3R D Ted e §1 B U Y& & IT-(b T d)
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AT — T IR | S R T e % e
T g & 39 feF & faw e it saeen w1 stgEr
fordt TR e & fos @ W wE & o A A
T H |

39. You have taken up a project to create night-
shelters for homeless people during the winter
season. Within a week of establishing the shelters,
you have received complaints from the residents
of the area about the increase in theft cases with a
demand to remove the shelters. You would

3=, It SHg ® SR @ o fT W-aw I\ e
T Tk URASET U Tt A ot ¥ 3 H-sad
T TG i o Ush 9wl o oftav &, stuent
39 A & fHafaat | =Rl & "7 aed @i
Rrermat & e @ Wi une g § R -
%21 fou 9Tl U o =1 o Rir?

(a) Ask them to lodge a written complaint in the

police station

3mq ¥ #0593 oama § gfe™
RYH W 7o fafea fremd 2t &1

(b) Assure residents of an enquiry into the mater
3mq g fovaw feamd® & amer &t
Sig-ggdre & S

(c) Ask residents to consider the humanitarian effort
made
3y fyarfedl @ #&7 f5 a fFu Tu AFEdmETd
I W |

(d) Continue with the project and ignore their
complaint
3y frarfael ot Rreed # smeEr F aReeH
S W@

IT-(b Ac)

T — JeATd uRffT § oy franf @t a favar
feameT & wme &t Sig ueare @ STt steEr et
T F3 fF o foFw TT AFEAETS YO B wEe |

40. You, as an administrative authority, have been
approached, by the daughter-in-law of an
influential person regarding harassment by her
in-laws on account of insufficient dowry. Her

parents are not able to approach you because of
social pressures. You would-

TH wfery S AL NUH U, ATUH
TomaRTE W R % A, 7 e o
ATt ¥ R SH% A0S 9T @ STUAhE €eW
o & &t @ &1 SHeh TaT-Tiar | et &
HEUT AMUeh UM G 2T o7 © & T T 7 o=
Har?
(a) call the in-laws for an explanation
Cil TQUS ATl B gAE I SEE
HiT
(b) counsel the
circumstance

3T 39 St & 98 gl 3 % oRfefrt &
T IE B % a7 Rl I weehiar o)

lady to adjust, given such a

(c) take action after her parents approach you

3T IYh Ha-foar & T I W&
FHrfaTd B |

(d) ask her to lodge a complaint with the police

A9 39 ©f F T8 Far 4 fF g% g &
T R & i
IT-(a ATd)

=TT TR aRfEfT # ST 3§k wqUe Al @
AR 3T WHHWT A a1 3T T B A7 TR
3 f 3% 9fer™ & 99 o1 fireed @S Sau

WU AT eTuar

41. Consider the following three statements
= wa W e
1. Only students can participate in the race
BA & AT A T §
2. Some participants in the race are glrls
T A [ % o FIferp |
3. All girl participants in the race are invited for
coaching
g H 9 o Al woft aifeer st
STYRIOT e S T 2

Which one of the following conclusions can be
drawn from the above statements?

wHUA | HIF-TT Tk fremd
ettt <1 TR &2
(a) All participants in the race are invited for
coaching
drg & qeft sferwfiet 1 sfweor &g e T )
All students are invited for cochin
Toft BET H AT &G A T %
All participants in the race are students

ot gfawrh B 2

None of the statements (a), (b) and (c) given
above is correct
ST (a), (b) ST (c) Tl & 0 W 7 2
3T=(¢)
AT — 9 Th & FIIR 3e § had & & am
o Tehd § tofd T B A T o GEd| FeH D F
FIER dg H 99 o4 Al § FY e § i
A5 & aTerh quT Siferhr Al AT Ad &1 YA di9 &
FTER A5 & 90 o et qeft sfersh i ST 8
ST T R o A s | ad fsed e
fh g % et wferh om )
Direction for the following 2 (two) items
2 Gﬂ') i %3 :

Each of the following two items consists of four
statements. Of these four statements, two cannot both
be true, but both can be false. Study the statements
carefully and identify the two that satisfy the above
condition Select the correct answer using the codes
given below each set of statements :

¥ g & fiet uIR wmem
23 UR wUAl B W o W €, S U Wy S q@
& & ehd; foheg A1 & Tora & Wend &1 el v

(b)
(©)
(d)
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LAY STETT i 3T 3 1 Al sl =g S
Sudert framt @t H1gE W § TS ReH-Teed
U fEU T el i TErEdT ¥ WE 3T I
42. Examine the following statements :
faeffET e e FE
1. All animal are carnivorous
aoft ayy wERR @ £
2. Some animals are not carnivorous.
F© UY] AERR T 8|
3. Animals are not carnivorous.
Y] AR T |
4. Some animals are carnivorous.
9 7Y H9RE e g
%< :
(a)1and3 /1 33
(c)2and3 /2 3R 3
3TT-(a)
AT — H9 U & AR gft uy] giowed ge g,
fhg 78 FoA G 7, Hifh B T I THY, T
T wiEEl T S ®HH T F SER FB Y
R T A §1 o A% ®UF W g1 I 3 b
SFTHR IY] HiEE T 2 1 o7 98 FoF off o g,
Fiifh o U S I, A gl AEE & ¥ FHu
IR F ER FB U] HEEW I §, I T@ e off
T 31 T F2 (A) B T W A FHod o 2, o
T I F 3 3
43. Examine the following statements :
frfafaa weat &t aften #ifT
1. All trains are run by diesel engine
oft Temfeat ST S99 | T ¢ |
2. Some trains are run by diesel engine
9 tamfeal 9a §99 § Fod &
3. No train is run by diesel engine.
#1 oft Yermet vt g5 § T e |
4. Some trains are not run by diesel engine.
T tamfedt E9a g9 9 T e |
ETR
(a) 1and 2 /1 3R 2
(¢)land 3 /1 3R 3
I-(c)
T — F9F TF & FER 9+ft @mfeat Soa 59
 Fod €, T B WA T i FB lemrsar
sofes () & 9o €1 %99 & % SR 3B
termfear d9e S99 § Fad §1 9% FUF 9 g1 FU
3% AR $iE o Tt dNa 99 § T Fed| a7
FOT A ¢ Hh P amiedi Eoa g9 o
Tl €1 HUF IR F U FB emear et g9 o
T T alq F temiear g ¥ 9ot §1 e
FU IR A T 3T I U TS o S A pe
1 37 fased (a) T S %2 B

(b)land2 /1 3T 2
(d)3and 4 /3 3 4

(b)2and 3 /2 3 3
(d)1and 4 /1 3 4

44. Consider the following figures :
e

T

2 6 3 ?

80 | 24 120 | 36

What is the missing number?

T W AT &7

(@7 (b) 8

(©9 (d) 10

ST-(¢)
et —

2 6 3 ?

80 | 24 120 [ 36
TP B TG T WY G B —
2x3=6 3x3=9
6x4=24 9 x4 =36
24x3+2x4=80 36x3+3x4=120
;W T 3 x 3 =9I

45. Study the following Figure
e Ll
A person goes from A to B always moving to the
right or downwards along the lines. How many
different routes can he adopt ?

Teh Ak A § B Ok SHIM @RI & AIe-|TeT
Trfet feom ® srerar o w6t faem # wed gy ww@r
T g Tera= STETT-3TeTT AT 7T HehaT &7

A
B
Select the correct answer from the codes given
below :
fter fou T FHe =t wEEar ¥ @ W g
(a) 4 ()5
(c)6 (d)7
3T-(c)
- fE A ¥ B T S -3 A1 5] g
e 2
Ar—> < A
\ 4 Y
Y > 0%
B > B
A Ar—>
\ 4 \ 4
4
> > B B
Ar—> Ar—>
A\ 4 Y
A 4 i’ Y
>—B B
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46. Consider the following figure and answer the
item that follows :

frrafafaa o W faem Sifve 2R sae =
e T =TT a1 3T T

What is the total number of triangles in the above
grid ?
Suger fire ¥ Byt =t et we fehat 272

(a) 27 (b) 26
(c) 23 (d)22
3T-(¢)

srET- fire & st @ e e w23 7

47. In a queue, Mr. X is fourteenth from the front
and Mr. Y is seventeenth from the end, while Mr.
Z is exactly in between Mr. X and Mr. Y . If Mr.
X is ahead of Mr. Y and there are 48 persons in
the queue, how many persons are there between
Mr.X and Mr. Z ?

forelt dferr ®, sfmm X | @ 149 M W §
3R sfrurg Y i@ ¥ 174 T\ W §, W sfum
Z, #fram=r X 3R sfiu= Y o Ster wemr ® €)1 sfm=
X afg sfamr Y & ot € ofiw ufer o wer 48
et B, a ¢fiume X 3R sftar 2 & <frer ferar
wferT 7

(a) 6 (b) 7
(c)8 (d9
3T-(¢)
T —
X z y
13+ @—HHH—H—+H+—HH+HHeo 16
ifth & o1 sAfhal 1 G 48 7

i z, S x 71 FmE y & S 7T | 7

HT: x T y & o9 b Fa AhAl H G@ = 48 —
(14+17)

=48-31=17

%ﬂmz,xamy%aﬁmqwﬁ%, HAT: 3l ¥H =
N+1 17+1 18

2 2 2
o FHH z H WM x T y § A4 &, q1 A 5 7
37l x 3R 2 % 727 § = &

=91 ®H

giardt stiferen ermar
48. Consider the four age pyramids given below
namely A, B, C and D representing four different
countries .
e faw T, AmE: A, B, C TE D 9R o1y fuifrs
STET-ET TR 29Nt Fefa &id €1 39 W

femm wifs)

A

|

i
5
o

e 1 b

ol
1)

A

Which one of them indicates the declining
population?

I { SIH-TT Teh Tl TGS hl SRTT Hiar &7

(A (b B
(©C (d)D
3TT-(¢)

e — e T famed § famed (o) gedt oy At &
S H A HE 2
49. The following figure has four curves namely A,

B,C and D. Study the figure and answer the item
that follows./ter fou ww forr ®, e A, B, C

Td D IR ok W 21 o ot enega o SHeh
fror few Ty @ ST T

]

)

el
L
3 W & @

\

s (Af

L#] W SE— ——
O AL ZOG 400 600

Which curve indicates the exponemtial growth?

TAH ¥ HA-T 9% 3R LT 87
(a) A (b)B
(c)C (dD
37T-(¢)
Direction for the following 2 (two) items :
2 umﬁ%: o :

The following pie charts show the break-up of
disease categories recorded in the patients from two
towns. Town A and Town B. Pie charts plot the
disease categories as percentage of the total number
of patients.

Based on these, answer the two items that follow
the charts.

e feu o g w@ies (arg =ne ) vTEw A e e
B, &1 Il § AR # furer I At ey rer- e
ToTiar #1 g e § T At Ry AT e g
& gfewTa & ®a ° ifeRa foram T &1

3T AL oh SMUR W, g9 Wios & uvene few e
2 gl & I HfNw
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Distribution of diseases in Town-A

T - A O EEy

1 &%
T 2
.

A
T—

EREREEERE

| 1

Distribution of diseases in Town-B
IET-B |

A T ferawor

50. Which of the two town has a higher number of
persons with Diabetes ?
[ IR0 ¥ W fRE YT W SwEfeE § m
ferial et UEAT STULTHA NMIH &7
(a) Town /IR A
(b) Town /3@ B
(c) Same in Town A and Town B
TR A R TR B # e wE ¢
(d) No inference can be drawn
A T8 ehTel ST SRl
I1-(d)
=EET— 3 ¥EG (A Td B) # SN ¥ 3 URE
N HE # qo b Te T F o F I F
T o I W T e S g it Wl &
il 1 Pt T G i S A 2
51. What can we say about persons with more than
one disease from these graphs ?

T MGl o AR W FH 37 Al o o) |

T hE Tehd § (W2 Ueh & 31feres T 7

(a) There are likely to be persons with more than
one disease in Town A
IR A HUF T A W At A & g B
T 21

(b) There are likely to be persons with more than
one disease in Town B

e B # U § Ay W Al s % 2
a7

(c) There are likely to be persons with more than
one disease in both Towns A and B

AR B a4 Wl # TH ¥ e I &
ATl % & A 2
(d) No Inference can be drawn.
STTAM el FehTer ST HehdT |
3xT=(b)
TEAT— YR B U & 31fees U ared safhal & &
" e @ e v B H Ul @ wfoe
(24% + 19% + 30% + 28% + 20% = 121%), IEL A &
AT (18% + 13% + 22% + 34% + 13% = 100%) &
ek &1
52. Consider the following Velocity-Time Graph. It
shows two trains starting simultaneously on

arallel tracks.
%rnﬁ@ﬂaﬂ'r-m e W faem #itvw T
e @ Ut Yermfeat wr guttar § S |HiaT
TefEl W Te & §HT W T IR et 7

—

ty

With reference to the above graph, which one of
the following statements is not correct?

", frafafaa 8 § &F-
| Teh AT T T 87
(a) Train B has an initial acceleration greater than
that of Train A./ATME! B &I YR @01 Termet
A F TR TROT F STURT E 7|
(b) Train B is faster than Train A at all times
ISt B Tar (el A @ sTue s dw
SERGES
(c) Both trains have the same velocity at time T,
T t, T A TeAmiedl 1 S gaue 2|
(d) Both trains travel the same distance in time t,
units/t, TEI-SHE | THI M THIHE iﬂ T
A §
STt-(d)
STEAT — 9 D 319 § Fifh + 0 gug-3HE § I
Tl # TeEl B I A & STE S 3
A 21 FUT a, b, ¢ FE §1 TS B F IRAH @7
TS A % YRR @R # e s 21 R awg
% 97 # qRaT R F @1 Fad § qor Rt A &
foeamm & o @ fafia feew § ufy Sdve g g@
g = T gh F AT Fed §1 3 WS B I@E A
F 31T 9 de W 2
53. Consider the following distance-time graphs. The

graph shows three athletes A,B and C running
side by side for a 30 km race.
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frrefafas gi-wmg seE w faem it og
G A, B Ud C i TH eIaenl hl g9tiar & i
HI-|TY 30 km T SIS T @ B

With reference to the above graph, consider the
following statements :

& ded #, feafafad st «w©
ﬁﬁmaﬁﬁq

The race was won by A .
| dte # ure A S g
2. B was ahead of A up to 25 km mark .
T9H 25 km T €19% B U16H A ¥ AT 11
3. Cran very slowly from the beginning.
s C Y& 9 & agd ¥R e @ o
Which of the statements given above is /are
correct?

U § ¥ BH-AURE-T we wE 387

(a) 1 only /&ad 1

(b) 1 and 2 only /&ae 1 3 2

(c)2and3only/éﬁ?f23ﬁT3

(d)1,2and 3 /1,2 3 3

ST-(b)
M- e ¥ 98 ¥ 81 ¢ 6 a9s A &g ¥
TEE W F| T FUT UH G g1 A H HAY M A
39% T4 B a1 999 9w C 21 7 &1 3@ ¥ 38 o
w7y B fo wem 25 foell. o erah B, G A ¥ S o)
T He 2 off T g, g FF C F o 7w fafem 46
o S Wbt 6 g9 C YE ¥ & 95 R &g W@ o
HA: BT 3 IEA 2

Directions for the following 3 (three) items

3 (i aPiTh !
Read the passage given below, study the graph

that follows and answer the three items given below
the figure.

frafafaa @i = ufew, Sus Swia feg g
STETE T NI AT AR TRfT & e few g
i wy=ien o 3= v

During a party, a person was exposed to
contaminated water. A few days later, he developed
fever and loose motions. He suffered from some days
before going to a doctor for treatment. On starting
the treatment, he soon became better and recovered
completely a few days later. The following graph
shows different phases of the person’s disease
condition as regions A, B, C, D and E of the curve.

foreft g # e @9 % ERW U Sfed
WA WIeT o WUeh H N 36 FB G 91 gE@r
3T AT 3R TEA T MW I[E o FS &A1 aoh 98 @R
3R T I T, R 3E Staet § e e
STAR Y& & o U9, I & 3 AW A T
T iR AE Hw f e W faege S @ wEm
frafafaa oo ® 3| =afaq @ WU TR &
WWW%A B,C,D Ud E &1 & ®q U

54.

Whi 3 asv varve correspond/
corresponds to 1ncubat10n phase of the infection?

Th /R HIH-GUHME-H & HWHAT h IHT
TRUT & WA 87?7
(a) A only /&ad A
(b) B only /&9 B
(c) Band C /B 3R C
(d) No part of the curve indicates the incubation
phase./a% &1 H1g A TIT I T H T FMA
ST-(a)
STEHT— 55 1 A &7 HshHUT & I =0T o T 2|
55. Which rigon of the curve indicates that the
person began showmg the symptoms of infection?

ok % TRE & ¥ A gren € R
HERHUT & TRIUT Wehe I IT% U7
(a) A (b)B
(c)C (dD
ST-(b)

AT T% & B 9 ¥ 9% I g ¢ 5 39 =t |
HHATT & RIS B Y& gY, Hih A ¥ B &
Samgst & wen # 9fE g 2

56. Which region of the curve indicates that the
treatments yielded effective relief ?

ah % for SU=m @ wurEt

e W g3

(a)C

(b) D

(c)E

(d) The curve does indicate the treatment

I8 % STAR I TGl qwdl

IL-(c)
EAT— 9% & E &7 § gfd g1 @ & SweR ¥ et
rrsﬁg‘s‘ @ﬁ%ﬁ@ﬂwﬁﬁmwﬁﬁDﬁEﬁ
H & 2
57. There are four routes to travel from city A to city

B and six routes from city B to city C. How many

routes are possible to travel from the city A to
city C?
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IE A ¥ I B e W o [0 OIR W& § e
e B § I C deh WM & e ©: T €1 91T
A ¥ I C Tk WA & o fehawr T dora €7

(a) 24 (b) 12
(c) 10 (d)8
3T-(a)

ITEAT— IR A H I B & I o AU T A
@ 4%, 90 VR B Y C 0% 9 & fow v
T 6 81 I I A Y IR C TF I F forg Tl
F @A 4 % 6 =24 B

58. A contract on construction job specifies a penalty
for delay in completion of the work beyond a
certain date is as follows : Rs. 200 for the first
day etc. Rs. 250 for the second day Rs. 300 for the
third day etc. the penalty for each succeeding day
being Rs.50 more than that of the preceding day.
How much penalty should the contractor pay if
he delays the work by 10 days ? /

Tereft frmfor st st wiferer o, wes Taerifia fafer o
™ & gua ¥ 26 & fow < o fafader feran
T Y, W3 TR et e & fw w200
T fe & faw w. 250, R fe7 & faT = 300,
T s Wad! foT & fog & e fem &
% 50 e ¥ afe wd wETe g9 R 10 o
1fireR ohTa €, A 3heR i fohamT €8 1T AT

=few?

(a) &. 4950 (b) &. 4250

(c) & 3600 (d) . 650

I-(b)
T — 99 © g5 & onefiw 9o ure B & SRR
TF TR vt & -
200, 250, 300 ................ (10 fe=t & form)

g f&am 8, a=200,d=50,n=10
?ﬂﬁs:%[2a+(n71)d]

- %[zxzoo+(1071)50]

=5[400 + 9 x 50]

=5 [400 + 450]

=5 x 850 = 4250

-, 3w ardfeue = 4250 '9F

59. Consider the figure given below and answer the
item that follows :

o & T ey W e witvw o SEE

gyeTd feU T J9=i9T 1 ST ST -
Payy
3 s,
N .,/""
077777777777 F1

In the figure shown, OP; and OP, are two plane
mirrors kept perpendicular to each other. S is the

direction of a beam of light falling on the mirror
OP, the direction of the reflected beam of ligh
from the mirror OP, wills

S & M ARl |, OP, 3T OP, S GHA guur
£ S Th-g@ & oo fer €1 OP; gdw W
T Tt YR YF S 9T S 1 7@ § OP, gdur
A TrEfe WeRtor 4t st fewm @ gefi?

(a) Perpendicular to the direction S.

S fawm % s
(b) At 45" to the direction S.
S fawm @ 45° W
(c) Opposite and parallel to the direction S.
S fewm & foad e TR
(d) At 60" to the directions S.
S fa=m @ 60° ®
ITL-(c)
T — & T S SAH A gHAA J90 OP, R
OP, & § 78 9 2 f OP vl W qg arch webrer gt
# feem S 21 T & OP, <01 § wEfdd Fhrer gt S
ferem S feem & faadia i wmmR |

60. Consider the following figure and answer the
item that follows :

Hror & T sty W e @ ofv sEe

gyt fIU T qo=ivT o1 ST T ¢
-, W
.. \ _'/ P \\\‘. \.
HITOY)Y I H
-
A K/
GRS
B

What is the minsimum number of different
colours required to paint the figure given above
such that no two adjacent regions have the same
colour?

TR @ TE owHta W afy fE oft o et
@it & e SrET 7 T 9 o A 39 St
T[T A & U wu-F-o60 fohaa 3temT-srem &
i ST A2

(@3 (b) 4
©)5 6
3TX-(a)
T — O o 3 1, 2 e 3 3k STerm-3ter i
Zot @ &1 o Sl # i R ¥ T1 W S G © -
7 1,_:.-.::‘2‘“‘\\
N P e N
:f i ST SN \ \
1104 '\3,)3;] 1}| H
! l\‘_ T __/f"'\}_ )f }’1'
L, . ¥ . / 2
Ve A
"\‘ 2‘-_“__3;__:’/’!/’/
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61. Consider the following figure and answer the
item that follows :

For & T ey W Rew #Rw it sww
gy, fEU T g9=ivT 1 3T T ¢

15

48

A square is divided into four rectangles as shown
above. The lengths of the side of rectangles are
natural numbers. The areas of two rectangles are
indicated in the figure.

IW @ 3gar T& o & AR Ed
forerer foram T %1 STl &t TRt @t wegat
YUl HEATT 1 STl W € ITEAl o SF%eT
sifera &1 ol =it WA T W S@TE = ¥
(a) 10

(b) 11

(c) 15

(d) Cannot be determined as the given data are

insufficient./efftad & foar S wehar it few
T HFS A §
37T-(b)
HMET— TR @™ T a7 il ¥R e1Fat § fawws fman
T 2 fed wad B S & &uhd 15 (|
5x3) B 71 999 92 AT F ATFA 48 (A.xT. = 8x6
= 48) 81 39 YBR a1 FI o = (3+8) AT (6+5) =11
5 6

(]

15 3
5 6

48

5 6

62. Three persons start walking together and their

steps measure 40 cm, 42 cm and 45 cm
respectively. What is the minimum distance ech
should walk so that each can cover the same
distance in complete steps?
T Safe Uk T TEEAAT AT A & qAT 3R
HEHT & WIT THAI: 40 cm, 42 cm TAT 45 cm B
Y% Afe fhraft =FAaw gft 9% o amfen
ek afe AT it <Rt gut SRun § O o A ?

(a) 25m 20 cm (b) S0 m 40 cm
(c) 75 m 60 cm (d) 100 m 80 cm
3T-(a)

AT — qHl AR & HEH & A9 HA;: § — 40
Y., 42 9 q9r 45 9
40, 42, 45
20,21, 45
10,21, 45
5,21, 45
57,15
57,5
1,7,1
1,11

| e

T T =2x2x2x3x3x5x7=2520 T,
. Y =Eaw g = 2520 9.
250200 =2520 . &1 25 . 20 A

A person has only Rs. 1 and Rs. 2 coins with her.
If the total number of coins that she has is 50 and
the amount of money with her is Rs. 75, then the
number of Rs. 1 and Rs. 2 coins are, respectively.
Teh ek o U 6. 1 99T &. 2 %fi:a%a

Ik T FH 50 fagk § oK g=-Ti w. 75 %,
Al SHk UTH &, 1 9 &, 2 o fHeenl & €&
ThHIT:
(a) 15 and 35 /15 3 35 2
(b) 35 and 15/35 3 15 &
(c) 30 and 20 /30 37 20 2
(d) 25 and 25/25 3R 25 2
37-(d)
ST — A 5 U ¥ & fgepl &t G = x ao
T 9T &% faadl @ g@m =y

63.

g -
X+y=50 .. (1)
AT X +2y=75 oo )

. (1) ® 9. (2) W W
—y=-25"qy=25

v X+y=50

SLoX+25=50

x=50-25

x =25

I x 791 y & THehl & @A HAW: 25, 25 2
64. If a bus trasvels 160 km in 4 hours and a train
travels 320 km in 5 hours at uniform speeds, then

what is the ratio of the distances traveled by them
in one hour?

Ife TH-THE A ¥ TE W Tk 99 4 60
160 fertt Tt T wEelt & AT TR YL 5 e W
320 ferrft TH o= At &, O 39k GRT U TS W

Tt TE gRE ¥ wr T §7
(a)8:5 b)s5:8
()4:5 (d1:2
3TR-(b)
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AT — W39 # fa wen @ 5 59 qur o &t iy
T T ¢

. _ 950 uE e H el i gh
I S A S A
160
__4 _160 5 _ 40 1

320 4 320 1 64

5
- 0558

64 8

65. There are 100 students in a particular class. 60%
students play cricket, 30% student play football
and 10% students play both the games. What is
the number of students who play neither cricket
nor football?

feret wem o feenféi &t "= 100 21 60%
Teremeff fenche @ €, 30% faenelf weaiar @ea
g au 10% Feremef I @@ @ow §1 W
ferenféat st T @ & W 7 A fhdhe @erd €

iR T & Teaicr Berd &7
(a) 25 (b) 20
(c) 18 (d) 15
3IT-(b)
SATEAT — el # el & e = 100 @
60% foraelf forhe T §
30% ferenelf gearer @od §
10% faremeff a1 | &

méo%m

el & oTfiE Ten S T fhee W § a9 A

el Geid &
=100 (50 +20 + 10)
=100 - 80 =20

66. A village having a population of 4000 requires
150 litres of water per head per day. It has a tank
measuring 20mx15mx6m.The water of this tank
will last for.

T Tig A wEEE 4000 € e fom wfa
wfed WlafaT 150 ofieT ST st TMavachdr 2
U U Teh UHT & Zant § fdent 71T 20m x
15m x 6m &1 Ut Ht St T T foha fot &
HHT BI?
(a) 2 days /2 feai &
(c) 4 days /4 Tt &
3IT-(b)

ET- TE $ SHEET = 4000 ATh

gf =afe Jfafed STaT &l Aavaeshdr = 150 o

M & et ARl & fTU Tavas S & STEavgSdl

= 4000 x 150 <.

=60,00,00 <.

(b) 3 days /3 fe=t @
(d) 5 days /5 f&t &

=600 m® (feT)
TH FH AFAT =A. x °. x 3.
=20mXx 15mx6m

=1800 m’
. B 3 - -
. oy ol ot g = SO 3 i &
600 m
67. A student on her first 3 rests received and

average scor of N points. If she exceeds her
previous average score by 20 points on her fourth
test, then what is the average score for the first 4
tests ?

U wow i wifteron W feRdt BET @ SiEa
YTdier N 27k gl afg og 30 =i udieror §
oot sirae wrwtier | 20 3ie 3tfires I It §,
W TUT TR gHerui @ irea yreie e £7

(a) N +20 (b) N + 10
()N +4 (N+5
I-(d)

ST - B & 999 419 0ol § 3ited s N
21 A9 whenr § fea sitad owiE @ 20 3 AR
AT LT R

a7 iy afted = 4N, 20

AN+20 _ 4N 20 _ o o
4 4 4
68. In a group of persons, 70% of the persons are
male and 30% of the persons are married. If two
sevenths of the males are married, what fraction
of the females is single ?

wfaaal & Tw T9E H, 70% e gew o
30% wafaa faarfea & afy gea @0 2/7 «mr

Teranfea &, A wigenedt @ fahaar Wit arfderta 32
(a) 2/7 (b) 173
(c)3/7 (d) 273
STT-(d)
SR — AT ARBaAT F Fel G 100 2
TEN B HEA = 70%

3T ATl H T = 30%
foanfed =afowal & T = 30%

ﬁm%ﬁwﬁa%mﬂ()x%zo

#a: foanfea afgensti &t §&am =30 -20 = 10
e stferanfed wfgensii & @ = 30— 10 =20
. Hfgas &1 Y& Ao 9 = %:%
Read the following passage and answer the 3
(three) items that follow :
freferfad

G A ufer 3R sH uvernd feu
T 3 (i) oA & SR AR
In a survey regarding a proposed measure to be
introduced, 2878 persons took part of which 1652
were males. 1226 persons voted against the proposal
of which 796 were males. 1425 persons voted for the
proposal. 196 females were undecided.
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HaguT H g ARGl H @

2878
¥

\
Afgear =2878-1952

=1226

v
T

1652

02 02

1425-600) U 1
= 825 =1652—(825-796)| | =1226—(430+196)] | 1226-796
=1652-1621 — 1226626 = 430
=31 =600
796
rfoffa | <«

1l
196

forelt Ten gRaTieE STHIUTT @l AR i § U& 39
T ferT T UeR WamUT W 2878 wafarn A fewm fera,
=8 1652 T892 1226 =Rl A TS & o6
T fear, =" @ 796 gE € 1425 SAfeaat 3 weE
o U8t ® " feam 196 foat stfuita of)

69. How many females voted for the proposal?

TS o ver ® ua fean?
(a) 430 (b) 600
(c) 624 (d) 640
37-(b)
EET—
Toferor § fgEar o AT SAREAl # HE = 2878
&S & HEA = 1652

e & 9@ =2878 — 1652 = 1226
TCE & foeg AdeM A ard ARkl i 9@ = 1226
TS & foeg waeH F A e @ G = 796
TeE % a%g e S arelt & @ gen

= 1226 — 796 = 430
srfauffa fa= i 9@ = 196
37 TS % G § e i arel &l # g

= 1226 - 430 + 196

= 1226 — 626 = 600

70. How many males wre undecided?

gy
(a) 31 (b) 227
(c) 426 (d) 581
3T-(a)

ST - Y@ k9§ HaeE & arett fadi &
T 600 & 7T YEAS s H HawH F arc et
N T 430 7|

T % et # wae B arel qeul B G = 796 2
T & U § AAe w1 Al QN @ HE = 1425 -
600 = 825

Hfoffq wal & HoT T = 2878 — 600 + 430 + 796 +
825

= 2878 — 2651 = 227

TS o SAfuffa wl @ HE =227 - 196 = 31

71. How many females were not in favour of

roposal .
et forat e o war & Y o7
(a) 430 (b) 496
(c) 586 (d) 1226
IT-(a)

AT

TEd & fog Ade i arel SAfhal S & = 1226
TEg & fovs wasH & At g @ He I = 796
TEd & g Aded S arelt faat & e

=1226 —796 =430

ST W Y IR erHar

frrefertaa 9 (i) womien & fog fodr

frafafeaa 9 (A1) WAt (Wi 64§ 72)
3USht & ofiT v W emenfe € ST st wer &
e o T o fam §1 ot 39 yeAivn et
e € feamr S wr ¥y oEivr ufgu qem
frrfafaa geaion & s i)

Passage-1

He walked several miles that day but could not get
anything to eat or drink except some dry bread and
some water, which he got from cottagers and farmers.
As night fell, he slept under a haystack lying in a
meadow. He felt frightened at first, for the wind blew
awfully over the empty fields. He felt cold and hungry,
and was feeling more lonely than he had ever felt
before. He, however, soon fell asleep, being much tired
with his long walk. When he got up next day, he was
feeling terribly hungry so he purchased a loaf of bread
with a few coins that he had.

Word Meaning — Several — 319, except — 31,
cottagers — FfeAT @i, haystack — gm/{@ 19,
Meadow — dRIE, Frightened — aerefia e, Awfully —
1907, terribly — WEH &Y g, hungry — 9@, Loaf of
bread — WA
72. When the night fell, he slept

(a) in the open field (b) under a pile of dry grass
(c) in a farmer's cottage (d) under a tree
ST-(b)

AT — When the nights fell, he slept under a pile of

dry grass that day he walked several miles. So as night
fell he slept under a hay stack lying in a meadow.

73. He soon fell asleep because
(a) he was exhausted
(b) he was all alone
(¢) he had not slept for days
(d) he was very frightened
37X-(a)

T — He soon fell a sleep because he was
exhausted. He walked several miles without eat or
drink, except some dry bread and some water which he
got from cottagers and farmers.

74. With reference to the passage, consider the
following statements :
1. He was walking through the countryside.
2. The cottagers and farmers gave him enough
food so that he could sleep at night without
feeling hungry.

IAS (Pre) CSAT 2011 Paper I1

22

YCT




Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) both 1 and 2 (d) Neither 1 nor 2
3T (a)

HTEAT — With reference to the passage the statement
first is correct. He was walking through the country
side. The cottagers and farmers did not give him
enough food. He slept under a pile of dry grass
because he was exhausted.

Passage-11

I opened the bag and packed the boots in; and
then, just as I was going to close it, a horrible idea
occurred to me. Had I packed my toothbrush? I don't
know how it is, but I never do know whether I've
packed my toothbrush.

My toothbrush is a thing that haunts me when
I'm travelling, and makes my life a misery. I dream
that I haven't packed it, and wake up in a cold
perspiration, and get out of bed and hunt for it. And,
in the morning, I pack it before I have used it, and it
is always the last thing I turn out of the bag; and then
I repack and forget it, and have to rush upstairs for it
at the last moment and carry it to the railway station,
wrapped up in my pocket-handkerchief.

Word Meaning — horrible idea — wdHt foR,
Haunts — R-8 1 ST, travelling — T ST, misery
— ol ¥, FAW YdH/g@E, Perspiration — TEMI,
Upstair — Hifeat
75. When he was going to close the bag, the idea that

occurred to him was

(a) unpleasant

(c) fantastic

ST-(a)

(b) sad
(d) amusing

ST — When he was going to close the bag, the

idea that occured to him was unpleasant. He
understood that he had not packed his toothbrush, So
he was unpleasant.

76. What makes his life miserable whenever he
undertakes travelling?
(a) Going to railway station
(b) Forgetting the toothbrush
(c) Packing his bag
(d) Bad dreams
I1-(b)

HTEAT — For getting the toothbrush makes his life
miserable whenever he undertakes traveling.

77. His toothbrush is finally

(a) in his bag (b) in his bed

(c) in his handkerchief (d) lost

IT=(¢)

SAMEAT — His toothbrush is finally in his handkerchief.

At the last moment he carry his toothbrush to the
railway station, wrapped up in his pocket —
handkerchief.

Passage-I11

In spring, polar bear mothers emerge from dens
with three month old cubs. The mother bear has
fasted for as long as eight months but that does not
stop the young from demanding full access to her
remaining reserves. If there are triplets, the most
persistent stands to gain an extra meal and it may
have the meal at the expense of others. The smallest
of the litter forfeits many meals to stronger siblings.
Females are protective of their cubs but tend to
ignore family rivalry over food. In 21 years of
photographing polar bears, I've only once seen the
smallest of triplets survive till autumn.

Word Meaning — Spring — si&d, Polar bear — Q'qﬁ'ﬂ
Hef, Den — g, Cub — aﬁ, Persistent — QG/BBPT, extra
— s, forfeit — @l éﬂT, Rivalry — yfgfsdl, Autumn
—_— 'qﬁgg
78. Female polar bears give birth during :

(a) spring (b) summer
(c) autumn (d) winter
IT-(d)

AT — Female polar bears give birth during winter.
Polar bear mothers emerge from dens with three month
old cubs.

79. Mother bear

(a) takes sides over cubs

(b) lets the cubs fend for themselves

(c) feeds only their favourites

(d) sees that all cubs get an equal share

I7-(b)

AT — Mother bear lets the cubs fend themselves.
The mother bear has fastened for as long as eight
months but that does not stop the young from
demanding full acces to her remaining reserves.

80. With reference to the passage, the following
assumptions have been made :
1. Polar bears fast as long as eight months due to
non-avilability of prey.
2. Polar bears always give birth to triplets.
Which of the assumptions given above is/are

valid?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
37-(d)

- With Reference to the Passage following

assumptions neither 1 nor 2 are correct. Polar bears do
not always give birth to triplets.
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3E. U, ww. (i) wda, 2012
t-de
ot y9a-uo &l &1
(STEATIAR TaetuuT Aiga o)

JTTEATET &THAT (SHIBHEI)

Directions for the following 6 (six) items :

Trefafad 6 (3:) wo=ion o foe fdor -

Read the following two passages and answer the
itsems that follow each passage. Your answers to
these items should be based on the passages only.

: Iqeh IUNA
TS UResE % IR W fI WU weHivh % IR
AT 3T WA & UF I AT UReSEl Ul &
Smenfia g =R

Passage-1
The poor especially in market economies, need the
strength the collectivities offer for creating more
economic, social and political space for themselves, for
enhancing their socio-economic well-being and voice,
and as a protection against free market individualism. It
has been argued that a group approach to farming,
especially in the form of bottom up agricultural
production collectivities, offers substantial scope for
poverty alleviation and empowering the poor as well as
enhancing agricultural productivities. To realise this
potential, however, the groups would need to be
voluntary in nature, small in size, participative in
decision making and equitable in work sharing and
benefit distribution. There are many notable examples of
such collectivities to be found sin varied contexts, such
as in the transition economies All of them bear witness to
the possibility of successful cooperation under given
conditions. And although the gender impact of the family
cooperatives in the transition economies are uncertain,
the Indian examples of women—only groups farming
offer considerable potential for benefiting women.
TRese—1

freel &I, TEeH aR stderaenet #, 39 GH &
R AfeAfh & Hada F AU 9o g% SR AR &
fovg ©H W@ % w9 H, ’Ud fau s e,
e iR TeHifaes et g & & fIT eF
¥ @ b wed fFa o 2 5 B @ gy s,
foee: ST F-3ce 9get & ®9 H, $H Sehd-
3fg & -y feaa-3e qun fa % gerheT &
el SEEY YA T 21 AUy, $9 GEEAl Bl G
F TG, EYIH M F G F OIH Whew, TR
Bier, fofa § Tewfier qur Se-sTeed SR ar- T

H gt @ fafay et #, S gseer sreferamesit
# U9 TgEd & 3HH SoaEdd SEewr €1 3 g,
fafyaa aRfRafral &, awa Tefm & aramet & e
T B T IR gl Germor srforaeensi § uRen-
TebRastt &1 feim-aae e 2, feg wferam
ARG T8 W & RT3 Afgesii H arar-ad
I gATE FEESH B A

1. Agricultural collectivites such as group based
farming. Can provide the rural poor

H wuE, S o v swenfa Sy, amdror frefat
EQ)
1. empowerment.

HBIBLT &M F Tohel ¢ |
2. Increased agricultural productivity.

affq F SEEHd TeH W TH5d B
3. safeguard against exploitative markets.

[ % foes T YeE R w9 £

4. surplus production of agricultural commodities.

Y el 1 Al S Y& R ghd &

Select the correct answer using the codes given
below :

=fter feu 7T Fe w1 wENT W |E I A ¢
(a)1,2,3and4 /1,2,3 3T 4
(b) 1,2 and 3 only /3ed 1, 2 3 3

(c)2and4on1y/§ﬁ?f23ﬁ1 4
(d) 1, 3 and 4 only /e 1, 3 37T 4
I — (b)

e - URess # ufEal § wy 2 6 B uge,
S 5 T emuiRa Hfy, andr A S-ue,
QrafSIeh-3Mfeieh Feam 3R AfrefE & fou qa aeR
% g UF GV YEH F 2| T8 7 T b T
2 5 P % g surm, faea: se Tl Hi-sar
Tl & &9 H, Y ekl gig & qrg-ary fyefaar-
IR qdn fAelAl % TeEdET & ARy STEH ¥aH
FAT 1 3A: fawed (b) T 2
2. What does the author
imspact”?
T guTE” | SR T T AT §2
(a) Women are doubtful participants in cooperatives.
ARETT TEhRarst § Hegreas gt €1
(b) Family cooperatives may not include women.
ReR-Tesaret § Afgard wfmfad 4@ FF &
THA &

imsply by ‘‘gender
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(c) Women beneﬁtmg from group farming .
TR P T aArefad gl Afgerd |

(d) Woman’s role in transition economies is highly
restrictive

TepAuT sefeawensti # wfeaned @ qfier o
e 2 |
3T —(¢)
T — U & sifem dfeE @ Wy g Cfem
T F TG H A ¢ - TR P I A gt
Al uiese # fem wen @ 5 wafy wswor
sfeaeenst  H  uRaR-wewfaesit  #r femT-wee
SffTem 7, fobeg wieen o enenRa o 3y & e
3TET AT B A T gAtE g
! FAd 2|
3. Considers the following assumptions :
frrefaiaa amumett X faem St :

1. It is imperative for transition economies to have
agricultural collectivities.

%W:rm 3§ FY T &1 g e
|
2. Agricultural productivity can be increased by
group approach to farming.
FW % 9 TR IUTTH | HY IFAEHA H TERN
ST Wl B |
With reference to the above passage, which of these
assumptions is/are valid ?
Jh Ui & Hedl 7, 3 gt § ¥ -
/A qu /87
(a) 1 only / e 1
(b) 2 only / Fae 2
(c)Both 1 and 2/ 1 3R 2 2t
(d) Neither 1 nor2 /9 aI,AE2
ST —(b)
e - YR W fER 6 ¥ Wy @ % s
g (2) R 1 TE A% WET fRAr T @ fF B @
e 3y, foeia: e FfY S wEdl & &9 A,
FY scewd gfg & wo-Try feaar sem qun fefE
% ST & Heequl e F&H HI & |

Passage-2

In a typical Western liberal context, deepening of
democracy invariably leads to consolidation of ‘liberal
values’. In the Indian context, democratization is
translated into greater involvement of people not as
‘individuals’ which is a staple to liberal discourse, but as
communities or groups. Individuals are getting, involved
in the public sphere not as ‘atomizes’ individuals but as
members of primordial communities drawn on religious
or caste identity. Community - Identity seems to be the
governing force. It is not therefore surprising that the so-
called peripheral groups continue to maintain their
identities with reference to the social groups (caste,
religion or sect) to which they belong while getting
involved in the political processes despite the fact that

their political goals remain more or less identical. By
helping to articulate the political voice of the
marginalized, democracy in India has led to loosening of
social strictures’ and empowered the peripherals to be
confident of their ability to improve to improve the socio
economic conditions in which they are placed. This is a
significant political process that had led to a silent
revolution through a meaningful transfer of power from
the upper caste elites to various subaltern groups within
the democratic framework of public governance.

-2
WWWWI& AT 1 AR TEY

ﬁwag
%
2 s

it

al

wam%w@ﬁméwﬁﬁmﬁ
IR H oY 21 F8 Uh Hequl Tomfaeh ST & S,
AH-IMET & Ahdis &d & e, IO’ g &
sl o fafte suifya wqel & wdfs wifh-gediaeeT e
a\o HeAH T USH g hifd N HROT a4t off |
According to the passage, what does “’deepening
of democracy’’ mean in the Western context ?
uferdt Waw &, ' olieds % S e e | w
3T &2
(a) Consohdatlon of group and class identities.
e T a1 qgdHl S GHEA |
(b) Democratization translated as greater involve-
ment of people.
[ 1 geTt ATiert § R et |
(c) Demsocratization as greater involvement of
‘atomizedss’ 1nd1v1dua1s in the pubhc sphere
g7 § =afedl & fd ®9 § gEw
rfiert & ®9 § ThaA e
(d) None of the statements (a), (b) and (c) given
above is correct in this context.
79 g # 30 Fel (a), (b) I (c) & T
off T T 21
I —(¢)
e - faftre ufverdt Sarerd gef #, deeT @ e
TG BT ‘IINATE T & THHA Hi SR o 0 2
AT Ta o, EArehdateheoT @l St gt anftart §
afurd 21
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5. Greater democratization in India has not

necessarilys led to

URA § eI Alhd sl feRuent tferd v &

THROT TE T 72

(a) the dilution of caste and communal identities in
the public sphere.

TSR & H St Ud e qgdHl # Ae
SE

(b) Irrelevance of Community identity
governing force in Indian politics.
TR Ty # e 9 & ®9 § T ggaH
T ST BT |

(c) marginalization of elite groups in society
TS # SIS TR S 3w g

(d) relative unimportance of hereditary identities
over class identitites.

F TgEEl F IR AINE TgEET HI o Groer
HEeaR AT T |
3T — (b)
AT TR & Je AHAHUT & Tad H I
TAM U e 9 &% w9 # 76 fewrd a2

6. What is the ‘silent revolution’’ that has occurred
in the Indian democratic process ?

9E 'O il W ¥ W WRA" clreRdite

gfehan | wfed g3 87

(a) Irrelevance of caste and class hierarchies in
political processes.

Toifoss gfskamelil § sifq e o HigE &
ST |

(b) Loosening of  social
behaviour and patterns.

TAeH 9gR U wfawdl § gmifses e a6
Frer g

(c) Social change through transfer of power from
upper caste elites to subaltern groups.

TR Wfd IfeH ¥ 3wl wwg § o owfe-
FEATCRT o HIEAT | WIS giad |

(d) All the statements (a), (b) and (c) given above
are correct in this context.

59 ged § g9l Ut H9 (a), (b) 3N (c) T B
ST —(¢)
e - ifws § e T 2 5 o us wewyt
ToHfas IR € ST Wb WA & Alsdiee @ %
R, IR A & e ¥ fafe sufe wgel A
Trf Ve ST FA %k WEAH ¥ UH G Hifd
HIOT T o)

as a

strictures in voting

Directions for the following 5 (five) items :
Forefafiaa 5 (uien we=ion & oo fder :

Examine the information given in the following
paragraph and answer the items there follow :

Her for @ ufeee ¥ & W gemr W faem
HITNY AT 3Hek et fom 71w woet o1 s i

Guest lectures on five subjects viz., Economics,
History, Statistics, English and Mathematics have to be
arranged in a week from Monday to Friday. Only one
lecture can be arranged on each day. Economics cannot
be scheduled on Tuesday. Guest faculty for History is
available only on Tuesday. Mathematics lecture has to be
scheduled immediately after the day of Economics
lecture. English lecture has to be scheduled immediately
before the day of Economics lecture.

R MM, W TH Tar # GHAR ¥ YEHAR a% S
S 1 ST HET 2 | Teieh o Sheel Ueh s i
g fopeT ST W1 21 S H HIER S SR
Tet foRar ST Teha | SfoRTE 1 AT TEAISH haed HER
I IYSSH 2| T H AN, AU F A & &
& ik oet fam & ST w21 SERT # e
FfoTE & ARIH A i & I U A v Sy
HE 2
7. Which lecture is scheduled on Monday ?

HIHAR &Y hi-HT A TG &2

(a) History/ 3figm

(b) Economics/373m&

(c) Mathematics/ 7O

(d) Statistics/HifeTat
ST (d)

TEAT- URTSE Tt GoT o 3TJAR ¥94 7 | 11 %
T STEAT -

fa e

Tar - Tifterent

TR - gfrera

EEI - st

T&AR - RN

RIEEIRN - o
8. Which lecture is scheduled between Statistics and

English?

wifteen 3 sl & dfter ¥ wA-ur s
g 72

(a) Economics / 314¥m&

(b) History / Sfiar™

(¢) Mathematics / T0Td

(d) No Lecture / HE A Tl

I : (b)
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9. Which lecture is the last one in the week ?
HwTg | Shi=-9T SR 3ifen &2

(a) History /3ft@ra (b) English /3TIsT

(c) Math /7ot (d) Economic JE: B et
3T : (¢)

Which lecture is scheduled on Wednesday ?

FLEAR Sl ShIA-HT S TG 872

10.

(a) Statistics /et (b) Economics / refomTE
(c) English /33Tt (d) History / 3feema
3T (¢)

11. Which lecture is scheduled before the

Mathematics lecture

T F AT & UEA  H-dT I
g €2
(a) Economics /314¥Tm&
(¢) Statistics /difieaht
ST : (a)
Direction for the following 15 (fifteen) items :

15 (U73E) WoAI9I o feq :
Read the following three passages and answer

the items that follow each passage. Your answer to
these items should be based on the passage only.

frrfafaa &= =<l =i ufeu iR SUes Swia
TAE UReDT % MR W Iy U genivh & S
ST 3T YIAITN o ek ST hadl URedal U &
ST g =)

Passage-1

Education, without a doubt, has an important
functional Instrumental and utilitarian dimension. This is
revealed when one asks question such as what is the
purpose of education ? ‘The answers, too often, are’ to
acquire qualifications for employment/ upward
mobility’,  'wider/higher  (interms of  income)
opportunities’, and ‘to meet the need s for trained human
power in diverse fields for national development’. But in
its deepest sense education is not instrumentalist. That is
to say, it is not to be justified outside to itself because it
leads to the acquisition of formal skills or the certain
desired psychological social attributes. It must be
respected in itself. Education is thus not a commodity to
be acquired or possessed and then used, but a process of
inestimable importance it individuals and society,
although it can and does have enormous use value.
Education then, is a process of expansion and
conversion, not in the sense of converting or turning
students into doctors or engineers, but the widening and
turning out of the mind- the creation, sustenance and
development of self-critical awareness and independence
of thought. It is an inner process of moral —intellectual

development.
TRese—1
fore =1, fride, w6 weaqul SEwe, dfufe qo
SIS ST BT &1 F8 79 IEed el & 5 BiE
39 TE & U 9B, S fF R w1 weem o 82 g
TH% IW B 8, ISy s i % g s

(b) History /Zfcgrg
(d) English /373rsit

ffq FT, ‘SN AUF/FEER (A F Gl H) R
@ &, T faw 3 ey eF § sl sh-wfe
F oavaEast # Off AT W o1 Teaw e H
o A 781 81 S 1 NV T &, % Een wEHm
g @ iy w8 sdEr S gl Hife T8 SHuems
Ferelt a1 Sfaug ffved gifed st - it ol
% ol A R o I 21 AR wd § & gEewig 21 gy
e forn a1 a5 7 ¢ @ afvia #, @1 Feg @
TE R, TN 3UH U fRAr S, afew 9w
SRl e TS % oY STaRfd Heed wad arelt g €,
7T ST STIR ITANT-ed & Fehdl § 7T &I g1
forn foaror wd ®wiRoT # oufpar @, faenfiE &
Rl @1 Sfaedl § aged & otd § T, afes wA
foramor wd uftada - oM, 9T wE STe-fadeeTs are
1 foprg o foem & @aaar o & & o H| a7
Aferp-aiifege forpra a1 aiaftes wfewan 2|
12. What do you understand by the ‘instrumentalist’

view of education ?

31 fotem o ‘Aftrfes’ gfyerior & R T 87

(a) Education is functional and utilitarian in its

purposes.
R 219 weeH # FREwE o STiEEE 21
(b) Education is meant to fulfil human needs.

e 1 32va AMET sTavasmane g

(¢) The purpose of education is to train the human
intellect.
e 1 e q Sfs i AR BT 2
(d) Education is meant to achieve moral development
frenr 1 SR v A o 7wt 21
3T(a)
e — R % A § wer T ¢ f6 few @,
freide s Aol FEws, Afufte qor SwEifaE
S BT 8| THY TE g 8 B R e et #
I T YA 2|

13. According to the passage, education must be
respected in itself because

UR=8T & IIER, e @i wEms § wHieui

A BT wnen?

(a) it helps to acquire qualifications for employment
Fiifeh I8 USTR o foTu saeil & oToia # W
il

(b) it helps in upward mobility and acquiring social
status/F1{h T8 HEH! TR a HHISH &R
T F H T B 2

(c) it is an inner process of moral and intellectual
development./3ife = Afdeh o sifgsh fawm
iR S 2|

(d) All the (a),(b) and (c) given above are correct in
this context.

7q ged # suRfefad @ (a), (b) T (c) WEI &1
3T —(¢)
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e IRese & sifow dfFq § fRer § 5 fwmm &
@ qE 4 gEeiE g dieT it g8 Afufie T8l
2, afcw Tg sTaRE-aifes e 3 yhFa 81

14 Education is a process In which
forem we wferan €, few
(a) students are converted into trained professionals.
ferenfefat st sf¥fera et % &9 § seer S 8|
(b) opportunities for higher income are generated.
I=d A & FETE H oA Al B |
(c) individuals develop self-critical awareness and
independence of thought.
el § A-fEeTs @y iR fRm &
AT BT R B 2
(d) qualifications for upward mobility are acquired.
e Tferefierr & foe stdanstt @1 e g 2
I —(¢)
e - R fERT g wuaor s a8,
fomnfdel & SRl o1 Sfaed § s'eq & o §
dfcsh 7 &I fodRoT W@ gRada goi wweT UE STe-
forammTeTe arg @ fas qun foem @ @A e
& o7 | o7 faed (c) e B

Passage-2

Chemical pesticides lose their role in sustainable
agriculture if the pests evolve resistance. The evolution
of pesticide resistance is simply natural selection in
action. It is almost certain to occur when vast numbers of
a genetically variable population are killed. One or a few
individuals may be unusually resistant (perhaps because
they possess an enzyme that can detoxify the pesticide).
If the pesticide is applied repeatedly, each successive
generation of the pest will contain a larger proportion of
resistant individuals. Pests typically have a high intrinsic
rate of reproduction and so a few individuals in one
generation may give rise to hundreds or thousands in the
next, and resistance spreads very rapidly in a population.

This problem was often ignored in the past even
though the first case of DDT (dichlorodiphynyltrich
Ioroethane) resistance was reported early as 1946. There
is exponential increase in the numbers of invertebrates
that have evolved resistance and in the number of
pesticides against which resistance have evolved.
Resistance has been recorded in every family of
arthropod pests (including dipterans such as mosquitoes
and house files, as well as beetles, moths, wasps, fleas,
lice and mites) as well as well as in weeds and plant
pathogens. Take the Alabama leafworm, a moth pest of
cotton, as an example . It has developed resistance in one
or more regions of the world to aldrin, DDT dieldrin,
endrin lindane and toxaphene.

If chemical pesticides brought nothing but problems-
if their use was intrinsically and acutely unsustainable-
then they would already have fallen out of widespread
use. This has not happened. Instead, their rate of
production has increased reapidly. The ratio of cost of

benefit for the individual agricultural producer has
remained in favour of pesticide use. In the USA,
insecticides have been estimated to benefit the
agricultural products to the tune of around $5 for every
$1 spent.

Moreover, in many poorer countries, the prospect of
imminent mass starvation, or of an epidemic diseases
are so frightening that the social and health costs of using
pesticides have to be ignored. In general the use of
pesticides is justified by objective measures such as
‘lives saved’, ‘economic efficiency of food production’
and ‘total food produced’. In these very fundamental
senses, their use may be sescribed as sustainable. In
practices, sustainability depends on continually
developing new pesticides that keep at least one step
ahead of the pests-pesticides that are less persistent,
biodegradable and more accurately targeted at the pests.

uRe=sg-2

e e swwa fowaa &= od @ T
FeAv Gl FY H I Heed T 39 €1 FeAww
Sfehdr & G 7 Wifae o i A g1 SW
STER: afeed SHHE # 9gd ¢ e I8 @ S
2, @9 SO Hied B A gRfea 21 T el B
Fie T ® T IR & Thd § (I8 GEm: g
o 3T U TH TTEH S & S HeAwS FI PR
ST bl §) 1 AR T e TR-a =T A S g,
M Fe F W IR GG A A H H oA
T ST &1 FHEl F IR I R 33 ®T T d@A
At Bt 8, o TH W & Fw & Fe O n
didt & dhgl ar gl Flel H I % G §, S I
et I oTard § Hfeesr Sga et § et S 21

o gHg H 39 G 1 9 3ERe et W, Far
DDT (SEFARI SEFEA ZRFARTES) Sfefieshd & T8l
A A 1946 H & W & T il TH STHvea
Siat & T R sfalusar &1 e genm @ o u
FreAwe & Hen e faws sfoesa @ faww gen
2, # o 9fg g€ 81 e #iEt F v Bt (Red
SR Fehl wimfem §) H SR ITh TWU-HY UG adn
Fegfe JmoE # il o g€ }1 %ug % v
e, T gul FH F & IO | fova & A
afe &t # sud Ufegd, DDT, difegq, tfeq, fa=q
N TR o S Sfererbar fesia & T R

I THIAMAS FIAS Had THE & INH 8 —
I 3H TN o R UK FY T FuW0RE B - q@
I FYE FAN FA H AS & IH QAT TH T ga
9% fqudd, S99 SaeT & ast ¥ o 21 faed -
IR & T 9 ft AFTE-T B S HARH
YA % v § & o ge 21 USA § Pl ¥ Hu-
I 1 AT $1 A e AT S e $5 g
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